Adda2417

PROFESSIONAL EXAMINATION
BOARD
Directorate of Akikrit Bal Vikas
Seva Recruitment Test 2017 (for
Mahila Paryavekshak and
Paryavekshak Mahila Aganwadi
Karyakarta)

27th March 2017 02:30PM

Topic:- Grad_Nutrition and Health

1) Pneumonia occurs due to the infection of:/ <= aT & THHUT & HROT Bl B
1. Bacteria/ SfaTg]
2. Virus/ fasm

3. Bacteria and Virus/ STa] 3R fasmy
4. None of these/ s:n?r I ﬁ'&f T8l

Correct Answer :-

« Bacteria and Virus/ SaT0] 3R fawmoy

2) Chronic poorly-controlled high blood pressure before and during pregnancy is associated
with an increased risk for maternal complications such as:/ THGRIT | Ugd 3R ST a'ﬂ:l,
Srd1iere, wRme & | frifa 3= vaaa, 31fe g wifeaarsi & sifew # 9fg & T=fRe 8:

1. Preeclampsia/iuacifarar

2. Placental abruption/ REI] PRESRU

3. Gestational diabetes/ THITRITHICHT AYHE
4. All of the above/ Judad Tt

Correct Answer :-

« All of the above/ Sudad Tt

3) National Programme for Control of Blindness (NPCB) was launched in the year:/ ?Tfl’q SRl
a1 i H (NPCB) &1 3R Ty o faT T u:

1. 1956

2. 1976
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3. 1986

4. 1996

Correct Answer :-

» 1976

4) Bleeding gums are related with:/ Fjg! & Yaadd ____ 9 Hafud gl
1. Thiamine/ Y

2. Vitamin A/ e A

3. Vitamin ¢/ fdeTfiq ¢

4. Folate / ®Idic

Correct Answer :-

« Vitamin ¢/ fderfi= €

5) School tiffin should provide:/ faemed feftea & forerm =nfewi

1. Fifty percent of daily requirement of calories and protein/ S@RT 3R WEH & ¢ Tl BT Tar
PIGRIG]

2. One —third of daily requirement of calories and protein/ BaR 3R TEH BT &R® TTHdT BT Th-fagis
3. One- fourth of daily requirement of calories and protein/ HaRT 3R U &t SFE TIDHT BT UH-TUE
4. None of these/ 378 T @5 gl

Correct Answer :-

« One —third of daily requirement of calories and protein/ HaRI 3R UIEH B ¢ Mazadar &1 UH-fagis

6) In adolescence Bulimia Nervosa is a disorder of:/ fHNRTaRITHTA FeilfiraT watar &1
foPrR 81

1. Liver/ I%d (faraR)

2. Kidney/ 3 (T[af)
3. Eating/ @HI-UHT

4. Drinking/ 9g<Td

Correct Answer :-

« Eating/ @F-GHT

7) Which of the following is not a sexually transmitted disease (STDs) during pregnancy:/ ?Fl'ﬁ'ﬁ
P, THTGRIT F R BT AT F=1id AT (TITLY) T8 8

1. HIV/AIDS/ HIV/AIDS (@m/@ﬁ)
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2. Anemia/ adTeddT (T
3. Syphilis/ Riftsfera
4. herpes and hepatitis B and C/ BT Ud 80T B dul gUemRied C

Correct Answer :-

« Anemia/ YadTeddr (TN

8) Rich source of Niacin include:/ FATRA &1 T Wid &
1. Spinach/ UTcdi&

2. Whole cereals/ didd 3N

3. Maize/ HddT

4. Eqgs/ 3fS

Correct Answer :-

» Whole cereals/ 91dd 3

9) Goitrogens are the substances that interfere the metabolism of-/ MgeioH d Uerd g ot
F IUTTA § gAY HId B

1. Calcium/ FfeRraq

2. Iodine/ 3MASH

3. Vitamin A/ faeTiaA A
4. Vitamin B/ fde1®=1 B

Correct Answer :-

« Iodine/ 3MAEH

10) BCG vaccine given at birth prevents the:/ ST F Y & S 9rell BCG aa i Al
APHYTH H<l Bl

1. Any type of cancer/ 3t it TR & FR
2. TB and bladder cancer/ TB 3iR TG HWR
3. Only bladder cancer/ %ad TR H-TR

4. Only TB/ %ad TB

Correct Answer :-

e TB and bladder cancer/ TB 3R WW

11) Phosphorus in grains is bound with:/GFﬂTrff H BIEpRY J snaﬁmsﬁm %I
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1. Oxalic acid/ Siaferes 3
2. Phytic acid/ BRIfC®H 3T

3. Mallic acid/ Bfer® 3w

4. Nucleic acid/ Jfddid 3T

Correct Answer :-

« Phytic acid/ s 317

12) The NPR method of evaluating protein quality is based on:/ Ik RIUEEI & b G| P NPR
fafy W TR 1

1. Growth and body weight changes/ ?{@ Td MR HUR & gRadt
2. Carcass nitrogen analysis/ <8 :ﬂs'cﬁ\_ﬂ fa=areoT

3. Nitrogen balance/ TS Iol Fa

4. Pattern of liver regeneration/ dhd EFIG%F[ &I e

Correct Answer :-

« Growth and body weight changes/ 3f& Td IR YR & aRacHT

13) Diet of a protein energy malnourished child should be:/ WEH-&ul UG a2 & BR I
IS RLEITY

1. High calorie/ 3(fRp B

2. High in protein/ 3ffY& UI¢H

3. High in vitamins and minerals/ 3@ e 3R @fwr
4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Suad Tt

14) WHO removed India from the global list of Polio endemic countries in the year:/ ﬁ%{ WY

TS (WHO) A B URA B THerdT HerRY arat &=0 @t afye it F arex $= & un
1. 25th February 2010/25 WRdxl, 2010

2. 25th February 2012/25 HRax}, 2012

3. 25th March 2012/25 A, 2012

4. 25th March 2013/25 A, 2013

Correct Answer :-

« 25th February 2012/25 HRaRl, 2012
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15) BMI can be calculated by:/ BMI ?:’;TTTUHTEFHIEI%—

1. Weight (kg) / Height? (m)/ HR (/&2 / Tiam? (+f1)

2. Height? (m?) / Weight (kg)/ TiaTe? (H12) / 4R (fam)

3. Height? (m?2) / Weight? (kg)? / TaTs2 (H12) / Y2 (fom)2

4. Height? (m2) x Weight (kg)/ TaTs2 (H12) x 4R (f33m)

Correct Answer :-

« Weight (kg) / Height? (m)/ HR (fe2m) / a2 (+f)

16) DTP vaccine prevents/ DTP AR ___ &} JAUTH &=t g
1. Diphtheria/ fwiifear

2. Tetanus / féeq

3. Pertussis/ TR
4, All of the above/ IURIGd Tt

Correct Answer :-

« All of the above/ ITRIGd Tt

17) still birth and neonatal death rates are high among pregnant women belonging to:/

arelt mefad fRrat & ga Ry 51 iR Tawid gg ¥ oifte 81 B
1. High socio economic status/ 3= graTfores-enffe fRufa
2. Middle socio economic status/ H&IH grATores-3fdfe fRufa
3. Low socio economic status/ GE] grATfores- e fRufa
4. Very high socio economic status/ 3fa S= gmiSTes-snfifes fRufa

Correct Answer :-

« Low socio economic status/ 4 o -enfie fRufa

18) World immunization week is celebrated in:/ ﬁ%’ yferefiemwor qdle H AT ST %I
1. Last week of April/ 30 & 3w gqtdle

2. Last week of March/ A" & ff<H qtdlg

3. First week of April/ 30 B YYH e

4. First week of March/ A & UYq qidlg

Correct Answer :-

« Last week of April/ 30d & 3ifaH T8
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19) Children at greatest risk of developing severe complicated measles include:/ PHIATH
TR, wifew @R R 81 & I aifte siftaw A gia &:

1. The young, particularly those who are under one year of age/ Bic T, fa¥IY ®0 ¥ 9 e o U& oy 4
G2

2. The malnourished (children with marasmus or kwashiorkor)/ @Cﬁﬁﬁ T (ﬁw QI HRROR ﬁ%ﬁ aér)

3. Those living in overcrowded situations (e.g. the urban poor, refugee/ S ’v‘-ﬁ‘&’%ﬂﬁ@lﬁﬁﬁ T
I T (S Tt e, RO anfe)

4. All of the above / Iudad it

Correct Answer :-

« Al of the above / Iudad T+t

20) In animals which vitamin has an important role to play in the reproductive process and
reduces the number of spontaneous abortion and still birth: / U3 & HI-1 e worm= uftear
# Agayul YT fruTar @ SR waa:wafda Teiurd Td ga Ry s+ 3 w@m gen @

1. Vitamin-A/ faei@=-A
2. Vitamin- C / faef@=-c
3. Vitamin- E/ faeifiq-E
4. Vitamin- D/ faci@=-D

Correct Answer :-

« Vitamin- E/ facif&=-E
21) On World Health Organization declared India as a Maternal and Neonatal Tetanus
free country:/ P fay WA WIS 7 YR I HIg Td Aqelrd e Jad <1 gifvra fbar ur:

1. 15 May 2015/15 g, 2015
2. 15 May 2005/15 Hs, 2005
3. 15 May 1995/15 HS, 1995

4. 15 May 1994/15 T3, 1994

Correct Answer :-

» 15 May 2015/15 g, 2015

22) Which of the following is not comes under the National Health Mission schemes:/ sﬂﬁ@ﬂﬁ?
P TR iR gieel & srtd A8 o 3

1. Rashtriya Bal Swasthya Karyakram/ J1$T0 STd T4 HRIGH
2. Janani Swasthya Shishu Suraksha Karyakram/ S==t Tarea fR1%] qR& HrRIHY
3. Obesity Control Karyakram/ HieTaT fe=0r HrdsH
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4. Navjat Shishu Swasthya Karyakram/ sdqild ﬁlﬂ WY HRIHH

Correct Answer :-

« Obesity Control Karyakram/ HieTdT fRu=or HRisH

23) Which one of the following medication can be used for the newborn eye care?/ T-I?:ITsITHﬁTﬂGﬁ
Pt 3@l Bt YT F e 379 | b gar &1 IuaT foan o W 82

1. Silver nitrate solution 1%/ W?@? faea T 1%

2. Polyvidone-iodine solution 2.5%/ TfISH-3MaSH faea 2.5%
3. Tetracycline 1% eye ointment/ %EA'IETCIW 1% =9 AEH

4, All of the above/ G'Cl?iTﬁ vt

Correct Answer :-

« All of the above/ Smjaa Tt

24) Which of the following statements is incorrect:/ R PIH-91 HYF TTAd 8-

1. People who are exposed to TB may or may not develop TB infection/ TB & YuH H 3 I A A TB
ThHUT fAHRd B1 ot Il § ok 78T ot

2. People with TB infection may or may not develop TB disease/ TB TshHUI Y Id A A TB I fawsiya 8t ot
ThdT § AR et oft

3. Risk of developing TB disease is highest in first 2 years after infection/ JshHUT & ¢ & Ugd 2 guf & TB AT
i g9 1 wiaw ol g g

4. Every individual exposed to TB develops disease/ TB & T & 3 dTd g% aifdd H g A7 fawRid 8 o 8

Correct Answer :-

« Every individual exposed to TB develops disease/ TB & TUd H 311 dTdt g Afad § Ig T fas Rid g1 Sran
g

25) Calorific value of carbohydrates is:/ HTEIGIASE PT BRI A 8:
1. 4.0 keal/g/4.0 fABaRyIM™
2. 6.0 kcal/g/6.0 fraicarl/am
3. 7.0 kcal/g/7.0 foraicranl/am
4. 9.1 keal/g/9.1 fraibardyum

Correct Answer :-

e 4.0 kcal/g/4.0 frenieaRl/am

26) %Minimum age for first dose of varicella vaccine is:/ IRAar AR F useht IRTP %ﬁ gAdH
3 &:
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1. 6 months/6 HIg

2. 1year/1 CL
3. 3 months/3 HIg

4. 15 months/15 HIg

Correct Answer :-

e 1lyear/l G

27) Which of the following is not a signs and symptoms of marasmic child?/ 'ﬁﬁﬁiﬁq R
Hif$a = &1 Adbd T AT 7TET 82

1. Muscle wasting/ ozl ey
2. Growth retardation/ ?{@ ofiedft Eﬁ ST

3. Moon face/ I&-Jd
4. Dehydration/ fASTeligsRuoT

Correct Answer :-

« Moon face/ I&-H&

28) The advantages of skin-to-skin contact of baby after birth are /is:/ 971 & qT¢ 1] 9 ATT &
I @A1-|-F91-$ AUS ST HT AT FidTl 82

1. The mother keeps the baby warm/HTdl ﬁr{[ DI TH §IE AT ®

2. The closeness between the mother and the baby helps the mother become attached to her baby/HTdT 3R
g1 & s B Teitaa § A & Rig I Je@/ea I gl §

3. The contact helps make early breastfeeding successful/Sd Juch § RSP UM IH gidl %
4. All of the above/ G'Cl?iiﬁ it

Correct Answer :-

« All of the above/ wjaa Tt

29) %Duration of whole pregnancy is divided in:/ '\‘-TlIUf THERIT FY 3rafy H o faurfora fear
T gl

1. Two trimester/ < famfeal
2. Three trimester/ 4 famfgal
3. Four trimester/ EIW]%ITIT%Tﬁ

4. Five trimester/ TTa famgal

Correct Answer :-

e Three trimester/ diF fowfeal
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30) Which of the following is not an airborne disease?/ 378 ¥ P TP arg-ariad I T8I 32
1. Chickenpox/ EEED

2. Influenza/ ST

3. Anthrax/ Q’?\’)Tﬂ

4. Cholera/ goT

Correct Answer :-

e Cholera/ %\‘rﬂ

31) The incubation period of tetanus is usually between:/ feem®r ﬁTﬁEHT-I Ca ] (Eﬁﬂa‘«’lﬂ
Tiftas) smdR W & s:

1. 3 and 21 days/3 ¥ 21 &9
2. 3 and 40 days/3 ¥ 40 f&
3. 3 and 50 days/3 ¥ 50 f&

4. 3 and 60 days/3 ¥ 60 f&7

Correct Answer :-

« 3and 21 days/3 ¥ 21 faT

32) The biological value of egg is:/GI'U@; P1 Wfa® A % .
1. 100

2.96

3. 66

4. 50

Correct Answer :-

* 96

33) If the malnourished child having the symptom of oedema then they classified according to
the:/ Tfe UG T2 # TEAT (R THT 811 & BRI §S Goid) DT AT g ol 39 F AR
Fiffga farar wmar 31

1. Waterlow classification/ giea affeur
2. Welcome classification/ dafH giffesRur
3. Gomez classification/ T ¥l

4, IAP classification/ IAP FaffeRRT

Correct Answer :-
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* Welcome classification/ IABH BT

34) ORS is administered in:/ i aﬁm%m SIGI %I
1. Diarrhea/ TUgUl ()
2. Constipation/ ®os

3. Anemia/ adTeddT (T
4. Goitre/ BT (TMgeR)

Correct Answer :-

« Diarrhea/ I3gUfl ()

35) Additional protein during pregnancy is necessary to meet tissue demands posed by:/

F PRUI 0T §3 SHad1d AT B gfd & fore ufawar & sifafved M $ smazaswar gt 21
1. Rapid growth of fetus/ MRy ﬁlﬂ EAKIE] q@
2. Formation of amniotic fluid/ 3cd d¥d (@Tﬁﬁ ENES)) ¥ fAefor

3. For the transfer of amino acid from the mother to fetus/ HIdT J My f?ﬁl P HAT 3FT B IFFIRT
4, All of the above/ G'Cl?iTﬂ vt

Correct Answer :-

« All of the above/ wjaa Tt

36) For the confirmation of pregnancy which hormone is tested in blood: / TYfawyr #Y H@ & ﬁl‘l!
9 ° 5 gl &1 udteror fsam s 3:

1. Thyroxine hormone/ YRR E!Tqﬁ
2. HCG hormone/ @@Gﬁﬁﬁ

3. Insulin/ $YfcH
4. TSH hormone/ d quT E)'W

Correct Answer :-

e HCG hormone/ @@Tsﬁéﬁ

37) Normal iron requirement for an adult woman recommended by ICMR 2010 is:/ ICMR 2010
ERT 9O AfSAT 8q SRR JTHRT TR SATaRgHl 8

1. 38 mg/day/38 fom/fea
2. 21 mg/day/21 fEm/ieA
3. 15 mg/day/15 ﬁwﬁﬂr
4. 10 mg/day/10 foRm/feq
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Correct Answer :-

e 21 mg/day/21 ﬁwﬁq

38) Cow’s milk is a poor source of:/ T &T gY Ca) '\‘l’ﬂ&'\ﬂﬁﬂﬂﬁ%l
1. Vitamin E/ faeTié= E
2. Vitamin A/ faeT#T A
3. Vitamin C/ faeTf# C
4. Vitamin D/ faeTf#= D

Correct Answer :-

« Vitamin ¢/ fdeifi= €

39) Monkey face is a symptom of:/ dI-R 9
1. Beri- beri/ sRI-sRt

2. Marasmus/ R

3. Kwashiorkor/ BTRR®R

4. Scurvy/ Thdf

Correct Answer :-

o Kwashiorkor/ ®1R IHR

40) Which of the following tests are banned for diagnosis of tuberculosis:/ SIERFARN & g
(gar) ¥ e 579 A S19-a1 wHeor ufaa R &

1. Culture/ TaEH (FeeR)
2. ELISA/ TQTSWTT (ELISA)
3. PCR

4. LPA

Correct Answer :-

o ELISA/ UdTISIT (ELISA)

41) The Probiotics include:/ WaTgifesd # =nfie g

1. Non digestible food ingredient/ Ul W< YUcdh

2. Digestible food ingredient/ U Wl Ych

3. Live microbial feed beneficial for human beings/ ﬂﬁ@%ﬂ AHDHRY Shifdd ﬁ&ﬂﬁ% U
4. Dead microbes / Hﬁﬁ&ﬂ\’rﬂa
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Correct Answer :-

« Live microbial feed beneficial for human beings/ ﬂi@%ﬂ AYH R Siifdd ﬁ&ﬂ@% o

42) The diet of a pregnant women should be well-balanced and should not be included:/ et

AigAT & SER P Aferd g1 AT SR IaH Tmfire T g =nfeel
1. Fresh fruits/ ol d

2. Alcohol/ Tebige

3. Grains/ 3Tl

4. Vegetables/ qfosr

Correct Answer :-

« Alcohol/ Tehigd

43) Increase in energy requirement necessitates the additional intake of:/ &l 3Ta=addr § g,
¥ Sffafvaa srauigur &t sMaxgd Hedl 3

1. Vitamin- A/ faeTE=-A
2. Vitamin- D/ faeTf®&=-D
3. Vitamin-C/ faerf=-c

4. Niacin/ o=

Correct Answer :-

« Niacin/ FaiRE

44) Retinol, supplied to the retina in blood is converted to retinal, which then combines with a
protein called opsin to produce a purple pigment known as:/ Yd&d % 1Ay § feAr (E'@'CIE?[) Ca|
3y B arer Yeta, A A e AT g SN MR TS T MATAJS P A& 9T+
quics I e Bl

1. Retinol/ 3feAtd
2. Rhodopsin/ JSIM&H

3. Carotenoid/ PRIcIsS
4. Beta- carotene/ SieT-hRIcH

Correct Answer :-

« Rhodopsin/ ISR

45) Red palm oil can be incorporated into supplementary food including the ICDS and other
programs to improve the:/ FURA & fore ardiSivy wia o srdehdl § R WieH # ¥s
U ae A fear o A 8
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1. Vitamin C value/ faei®= c 79

2. Vitamin A value/ fae1®a A 79
3. Vitamin B Value/ fdeifi= B 9

4. Vitamin K value/ faeTfd= K 99

Correct Answer :-

« Vitamin A value/ faeifi= A AF

46) The principles of meal planning includes:/ YioH &1 gieHT g9 & Rigri d e %:

1. Meeting nutritional requirement/ TINUT 3Ta=TddT ﬁtlﬁ‘fcxlm

2. Individuals likes and dislikes/ SfaT ! TH< 3R ATUG<
3. Should save time and energy/ THY 3R $olf & §ad g1 TR
4. All of the above/ IURIGd Tt

Correct Answer :-

« All of the above/ SURIGd Tt

47) Infant mortality rate is the number of infant dying in the first year of life per:/ ufa
TR e & UyH af H TR arat Aaeird R $t @, Tawid gog R deandl o

1. 100 live births/100 Sfifad S
2. 1000 live births/1000 SHfdd 5=
3. 10000 live births/10000 SHfadd ST=I

4. 1,00,000 live births/1,00,000 Sfifdd S

Correct Answer :-

« 1000 live births/1000 Sfifad S+

48) Which of the following is not an etiological factor of child malnutrition?/ ET-I'Q I PN I

FUINYT FT 7 PRSP T8l 22

1. Social and Economic factors/ TTHTIG Td 3nffer fuf
2. Colour of the child/ s/ &1 3T

3. Infections/ TshHUT

4. Unsanitary living conditions/ 3= Sitia- fedfaat

Correct Answer :-

« Colour of the child/ S BT 3T
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49) On 12th April 2005 which program was launched by the Hon’ble Prime Minister of India:/ 12
3T 2005 HT YR F AT U1 §RT {6 FRIH B ey far w4t or:

1. WHO

2. ICDS
3. National Rural Health mission / TI@H‘IM‘TUT Wy ffwH

4. Mid Day Meal Scheme/ AHTE HIST ST

Correct Answer :-

« National Rural Health mission / 1§ ATHIUT Ty fAe

50) ICDS comes under the ministry of:/ICDS HdTd & 3=l 3mat %:

1. Ministry of Health & Family Welfare/ ¥4 Td URIR Hedmol HAed

2. Ministry of Women and Child Development/ Afgdl Ud &1dt fawm #amag

3. Ministry of Consumer Affairs, Food & Public Distribution/ I $R:f, WE T S fdaRu gaag
4. All of the above/ Iuad Tt

Correct Answer :-

« Ministry of Women and Child Development/ Afed U4 a1 fde ™ HA@d

51) MMR vaccines given for the prevention of following diseases:/ M P APUH F ﬁ'l'l;f
MMR 3Rf1T & o<t 81

1. Measles, Mumps, Rubella/ HoIe (GERT), A (SHUMTRI/TAGST), Foal

2. Measles, Mumps, Yellow fever/ Hoied (|IRT), TR (HUIHTRIR/ATRGS), Tal Hiax (Uid S&R)
3. Mumps, Yellow fever, Polio/ F¥T (Ul TaRg3M), Tal Wiax (Yid Sav), difert

4. Polio, Mumps, Rubella/ G, 7FeT (HoTHE=I/TeRga), Sadl

Correct Answer :-

« Measles, Mumps, Rubella/ HISIeT (4ERT), T (& OFer=ir/ATarga), Tadl

52) Which one of the following method cannot be used to assess the nutritional status of

children?/ T @ Wivor fRUTY F7 pe B3 F g 3790 A 5w Rl &1 Iuahr =8 v s wwar 82
1. Body weight/ TRR &1 g5

2. Height/ ©aTg

3. Waist Hip Ratio/ »HR-(Adw 3urd

4. Chest Circumference/ BIdl &1 TR

Correct Answer :-

« Waist Hip Ratio/ ®HR-Faw S{UId
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53) Protein — Energy deficiency may cause:/ M-Fot & FH 3 37{3[ T 1 81 Pl %:
1. Muscle wasting/ Uzl e

2. Growth retardation/ q@ ofieft '5;[ ST

3. Both of the above/ LRGSR

4. None of these/ 3:113[ q @é T8l

Correct Answer :-

« Both of the above/ SWRId GHI

54) The internationally recommended Directly Observed Treatment Short-course (DOTS)
strategy is related to the following disease:/ U GITITRR-I U UfEd SUAR 3eushyd
(STRTE ! 3ifseios dlefie qTE-H1Y, DOTS) YU 374 | fF I1 A grafa @:

1. Typhoid/ TAWIZS
2. AIDS/TSH

3. Tuberculosis/ &3 T (SR AIE)
4. Polio/ Giferat

Correct Answer :-

« Tuberculosis/ &3 INT (STERPANRINT)

55) Which of the following vaccine can be given through oral and intramuscular route:/ Eﬂﬁﬁ

PH- IR BT SR iR SR UMt & gRr e s ww &
1. Hepatitis B/ fgUcrsicd B

2. DPT/ SiUict

3. Polio/ Giferat

4. Tetanus/ fde9

Correct Answer :-

« Polio/ Tiferay

Topic:- Grad_General Knowledge and Logical Ability

1) DIRECTIONS: Study the following pie chart carefully and answer the
question given below./ﬁ-lﬁ'ﬂ: IGLIIECE] qﬁﬂﬁ'ﬁ T HWW:ﬂ%ﬁEWU’Ha?
IR e |

Budget estimated by a family for their monthly expenses/ wtrhawam

AT Td BT doic
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Total Budget;"gﬁf g = 32000
Miscelleneous,/Ta,
& @d, 7%

Grocery/ BT,

Food/#iasT, 15% 25%
Clothing/&493T,
8%
Education,/THemT,
21%
Electricity/Tdedd,
19% Cell Bill/AE==T
Tae, 5%

What is the difference in the amount estimated by the family on Electricity

and food?/ URER gRT fayd MR WIS W SrgaTi~a Wd &t TR HT 3% 71 32
1.Rs.1,920/%.1,920
2. Rs.4,160/%.4,160
3. Rs.6,080/ %.6,080
4. Rs.1,280/ %.1,280

Correct Answer :-

« Rs.1,280/%.1,280

2) DIRECTIONS: Complete the series by choosing right figure from the given
choices./ f1ézm: fau 7T fawed d 3 Ot fawey o1 a9 Hb Joft Bt @1 B

X|A|X|?

(@ () () ()
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X

4.

Correct Answer :-

3) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’? &<t af¥fa (Treram) stfarfam, 1987 & siaviq
9 & F a9 AigATS ® FAT HT A0 F @ A1 AT GHdT 872

1. A woman being burnt alive along with the body of her relative voluntarily / T= wfgar
TRTFhT ST9 e q¥aeell % g % AT 3 TAog T ST [4d7 ST T &

2. A widow being burnt alive along with the body of her deceased husband forcibly /
U HigaT (Sl 799 Jda I <g % AT Saeaed] STl (&I7 T @T 8

3. All of these / 373 =T
4. None of the above / 378 & #E 721

Correct Answer :-
« None of the above / T7® & #I< g1
4) Polymeric materials are:/ F# & CaE k| El'g'a?ﬁq uerd &

(i) Glucose/ qHIT

(ii) Cellulose/ Sgard

(iii) Starch / &

(iv) PvC / didait

The correct answers are: / 9 3} %
1.1, ii and iv

3.1, ii1 and 1v

4. 1, 11 and 1ii

Correct Answer :-

5) Which year did the Food Security Act come into force? / @Ter & sfa«aw
v ad § @ e maT?
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1. 2011
2.2012
3.2013

4, 2014

Correct Answer :-

« 2013

6) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? /A fFafufad uy & usars e ) ¥ wA
YR THIT DI T AT SATTIT 2

(32.13)2 + (23.96)2 - (17.11)2 = ?
1. 1250
2. 1410
3. 1560

4, 1313

Correct Answer :-

« 1313

7) What percentage funds did the Central Government contribute in the
Ashram Schools in the Tribal Sub-Plan Areas for states? / IUl & iU ST
Su-grerHT H Sy faermeal # =i ISR BT ATer fHa-n ufa=d gar 82

1. 50
2.70
3.80

4. 100

Correct Answer :-

8) A television broadcast is an example of transmission/ c¢elfae
AR TR T UF SaTe0T 8

1. Simplex / Rracieg
2. Half-duplex / 1% Wi
3. Full-duplex / d Elﬁ?m
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4. Automatic /3ffemfe®

Correct Answer :-

. Simplex / Riocag

9) Consider the following statements regarding Human saliva:/ A4 @R & ¥ & sy & faar
FIfoR:

(i) Is a mixture of compounds/ T8 TP &1 fHgyor g
(ii) Is acidic in nature/ Tg 3 UHfa &7 g1 &

(iii) Is basic in nature/ g &N YA T a1 &

(iv) Has Pepsin / 9% TR Ut Sram &

The correct answers are: / 94 HYAN Bt tl?ﬂﬁiﬁﬁl'a
l.iandiv

2.iandii

3. ii and iv

4. iii and iv

Correct Answer :-

e iandii

10) Who was the Chairman of the first National Commission for Women? /

TATAH T TIRFHAT AT F 7T R A2
1. Jayanti Patnaik / Sy wed=

2. Mohini Giri / i+t frfy

3. Vibha Parthasarathy / fa«r areameft
4. Poornima Advani / T srEaTeft

Correct Answer :-

« Jayanti Patnaik / STgdt Ted®

11) A can write 750 pages in 25 hrs. A and B together can write 1350 pages in
27 hrs. In what time can B write 420 pages?/A, 25 %¢ # 750 U3 for@ g&ar g, A
3R B firaev 27 W # 1350 U3 fora Ihd B | B F1 420 Yoo formq # fpa=n 9w @k

1. 15 hours/ 15 ©¢

2. 18 hours/ 18 °¢
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3.21 hours/ 21 9¢

4. 24 hours/ 24 9¢

Correct Answer :-

« 21 hours/ 21 ©¢

12) Two persons cover the same distance at speed of 50 km/hr and 60
km/hr respectively. Find the distance travelled if one person takes 50

minutes more than the other./3l Afd HH: 50 fp i eer 3R 60 fopHl/der &Y nfa A
TS THT gt 99 B ¢ | Il T AT gax st & 50 Feie 3ifties wwa dan g, @ a3 &t
T g8 1 R

1. 250 km/ 250 T
2. 240 km/ 240 fHHt
3. 160 km/ 160 fo&Ht

4. 172 km/ 172 foHt

Correct Answer :-

« 250 km/ 250 THHt

13) Who will be the head of the Empowered Committee of the National
Rurban Mission at the National Level? / T T+ e § F=0a T < Stfam-ame
AT & T H19 g2

1. Union Minister of Rural Development / artor fasme & Feaia 9=t
2. Minister of State, Ministry of Rural Development / Trsa 55T, arefior fasma g
3. Secretary, Ministry of Rural Development / &f=ra, aHtor faeme g=merT

4. Joint Secretary, Ministry of Rural Development / &3 |f=4, ATHIT fEFHME Fq@T

Correct Answer :-
« Secretary, Ministry of Rural Development / =@, aTior fEewme #=mers
14) Vitamin C has chemical name is:/ faerfi= ¢ &1 wrafe a9 %:

1. Acetic acid/ THIfCH 3%
2. Citric acid / w S|

3. Lactic acid / Qfded 3w

4, Ascorbic acid / Qﬁ'ﬂ% ST

Correct Answer :-
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e Ascorbic acid/@ﬁﬁ 3T

15) How many spermatids are formed from a secondary spermatocyte?/Jdh fada® ;tmﬁﬂ‘m‘é?
¥ WHfes §9d &-

1.1
2.2
3.4

4.8

Correct Answer :-

16) If ‘lead’ is called ‘stick’, ‘stick’ is called ‘nib’, 'nib’ is

called ‘needle’, ‘needle’ is called ‘rope’ and ‘rope’ is called ‘thread’, what will
be fitted in a pen to write with it?/ (g ‘die’ 31 ‘G Fea ¢, ‘B’ 3! ‘T’ A T,
fra & g FEd T, gE' B IR Fed € ok IR P Ui Fed €, al A Rrem
fere SOw & sTaT SITaT 82

1. Stick/ Tal
2. Needle/ 3\3135
3. Nib/ fAg

4. Thread/ 4rm

Correct Answer :-

« Needle/ {],‘sc

17) Which one of the following options is/are not true? / &% & & Fi=aT o7 @gr
TRl 57
1. The Hindu Succession Amendment Act, 2005 gave daughters the right to

inheritance with her male siblings / &g SATfa=TE Femrerd sfafaaw, 1956 & gT afedi &
I WAL 6 "1 AT 7 At J=m = &

2. The Supreme Court in 2015 ruled that daughters whose fathers died before

September 9, 2005 will however won’t be applicable for the Amendment / 2015 &
T F1E F I8 FaraT 6f o afeat % foar 1 g7 Fawaw 9, 2015 F Td g7 8, a8 36 FTee g0
TaTH T3 T STTAeRTe o TAST A8l 8

3. All of these / 39Z=F T
4. None of these / 7% & #IE AZ!

Correct Answer :-
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« None of these / =% & &< 7&t

18) Which shortcut key is used for print preview?/ &Il icde poil fiie Wy
P forg swHTa gl 82

1. Ctrl+Shift+1
2. Ctrl+1
3. Alt+I

4. Alt+Ctrl+I

Correct Answer :-
o Alt+Ctrl+I

19) How many departments are there in the Ministry of Rural Development?

/ TR e weArerT F A A g2
1.2
2.3
3.4

4.5

Correct Answer :-
« 2

20) If the numerator of a fraction is increased by 200% and the denominator
=1

is increased by 100%, the resultant fraction is &, What is the original
fraction?/ afe T® fi=T & ST BT 200% TSTAT AT 3R & BT 100% TSTAT AT al ufvomeft
5

=1 ¢ 8 et 81 ot P T 22

5
9

=] | L

4.13

Correct Answer :-
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21) Which of the following is found in umbilical cord of mammals?/ Tt &t At 5]
(Umbilical cord) A urdft sl %—

1. Placenta/ 3{URT
2. Allantoic vein and arteries/ STURTONHT FRRT 31d Y=t
3. Skeletal muscles/ HHTA ush

4, None of these/ E:N}[ I aﬁs‘qﬁr

Correct Answer :-

« Allantoic vein and arteries/ 3ORTANRT IRRT 31d Y=

22) Average age of a teacher and three students is 25 years. If all the three
boys are of same age and the difference between the age of each boy and
teacher is 20 years, then the age of the teacher is equal to: / W&[WGﬁ? 3
farenf¥at @t o emg 25 ad 71 afe it faenffal @t smg aur= 8 9yt va® faendf sk
SFATYS Pt TG BT X 20 ¥ 3, A S ATIS B Mg ghft:

1. 25 years/25 GL
2. 30 years/30 Y
3. 40 years/40 T§

4. 45 years/45 ay

Correct Answer :-

« 40 years/40 ay

23) Harihar starts walking straight facing south. After walking 30 m he
turned to his right and walked 25 m. He further turned to his left and after
walking a distance of 10 m he turned to his left. In which direction is he
facing now?/ 8f¥eR, 30T $t 3R T P I IR Heal gl 30 Hiex I & 916 98 g
gedT g 3M¥ 25 Hiex TadT 3| 98 Y 91¢ gSdT & 3R 10 Wew ga+ & uxarq R d 9w gs
SITdT 81 319 39PT 4@ 5y fomm & g2

1. West/afgH

2. East/lljc
3. North-East/3@R-qd

4. South-West/cféror-ufds

Correct Answer :-
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24) Fructose is absorbed into the blood through intestinal mucosa by the process called-/FftR &

ThTaRiTol T JAITTUT AT ARHIhT P A1ead A Fre withar gy ghar &-
1. Co-transport mechanism/4g-0Rdg- fafd

2. Active transport/Fiohd GRAg

3. Facilitate transport/ JHTH faEROT

4. Simple diffusion/ YTHYRUT faTRT

Correct Answer :-

o Active transport/‘v'lm ufkdg

25) The Pradhan Mantri Adarsh Gram Yojana is a scheme that comes under-
/ SeT WY et I Arerar e § & R siasta At 82

1. Ministry of Social Justice and Empowerment / &THTISI =TT 3f¥ ATSaRTiar #smas
2. Ministry of Rural Development / ITHToT ferehme Ha1 T

3. Ministry of Tribal Affairs / ST T 13 HT9T

4. None of these / =¥ & #Is 7!

Correct Answer :-

« Ministry of Social Justice and Empowerment / TTHTIST® =TT 3f¥ AT&RTar §smes

26) DIRECTIONS: Find out missing number from the figure given below./

= R & i st § g wEm g9 iR
Pefu s
4 12 15
1.2
2.6
3.8
4. 64

Correct Answer :-

« 8
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Till what age does the Rashtriya Bal Swasthya Karyakram aim at intervening
and identifying defects at birth, deficiencies, diseases, development delays
including disability? / TS 9T TaTE2T FTAFT I ATHATINAT & fohaer a¢f it ST T
RreerivraT afga 5=, 1w, T, B e & F1eor fAwaiar #1 98979 Ud geqa T % F7 98
@T8?

1.6
2.12
3.15

4. 18

Correct Answer :-

- 18

28) Which of the following statements is/are not true about the Indecent
Representation of Women (Prohibition) Act, 1986? / afgaT & s7wg wa e
(FFroren) srfarfaam, 1987 wvaeelt wieT oo a8t A1 872

1. It extends to whole of India / 7 sIfaff=w @ yRa # @ 3

2. Representation on any ancient monument cannot come under this law / T ST==

TATCE | T AT TS TAATEd S0 AT =TT o Savid qgl o dahd
3. Both of these/39d<k Ml
4. None of these/za¥ & FIE 7l

Correct Answer :-

« It extends to whole of India / oI sfarfF=a @ wea & @] &

29) Pointing to a woman in a photograph, a man says, “She is the only
daughter of the mother-in-law of my only son.” How is the woman related to

the man?/ U& a&R § U& Afgen @9 3R ST Hd g U fad Hedl @ fr "ag i
THATA T3 O A1 & THATA PAl 7' | 98 Afgan o9 e @ fra yor awfta 8 2

1. Daughter/g'vﬁ

2. Wife/Ueil

3. Daughter-in-law/gAdy
4. Mother/HT

Correct Answer :-

« Daughter-in-law/9adY
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To merge the cells which tab do you use? / Il B TS HA %ﬁt{ 39 HI9-HT &
ST Fd 82

1. Merge tab / S od
2. Number tab / FisR &

3. Style tab / €d oq

4. Font tab / W< ¢§

Correct Answer :-

. Merge tab / A ¢d

31) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / = @41 & wigam @xeror srtarfaaw, 2005 avaweft
e 9 & 9T eT 987 T8l 52

1. Both mental and physical harm is included in this Act / =& srfarfeag & gmfas vd
AT IR Tl oo §

2. “child” here refers to person below the age of 18 / =& stfafaaw ¥ “aTers” &7 7T g 18 a9
q FH IH T ATh

3. Both of these/3q<i<s =T
4. None of these / g7 & #g &l

Correct Answer :-

« None of these / zA% & FIE 7l

32) In slide layout panel how many layouts are available for text layout by

default?/ TTSS AAIE U9d | fEPiee U T TR A3ASe & g foraa danse Iuasy &
1.4
2.7
3.12

4.6

Correct Answer :-

. 4

33) What will be compound interest on a sum of Rs.5000 at the rate of 10%

per annum after 2 years?/ %.5000 1 IR TR 10% TP TS B 3 | 2 901 A Tshgfes
TS 347 gRfY?

1. Rs.1050/%.1050


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. Rs.1250/%.1250
3.Rs.1150/ %.1150

4. Rs.1550/ %.1550

Correct Answer :-

« Rs.1050/%.1050

34) The dental formula of an adult human is represented as :/T® qYIDh I C e A (ed
=) =Y uega foman o gar 3:

1.1-22 C-1/1 PM-2/2 M-3/3 x2
2.1-33 C-1/1 PM-32 M-1/1 x2
3.1-33 C-1/1 PM-4/4 M-2/3x%x2

4.1-33 C-11 PM-4/4 M-3/3x%x2

Correct Answer :-

e [-22C-11 PM-2/2 M-3/3 x2

35) Which of the following options is correct about the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013?/
e ® & 19T AGATSH T FTAETT I A0 Icdte (Fareor, Tiave s yiaqi) sitafaaw, 2013
Traeft faew gt 87

1. Every state government shall constitute a Local Complaints Committee / Y& 5%

TTHTT FT T TITAT FOhTaa ATATS T TST F4AT TS9T

2. The total number of members of the Local Complaints Committee is 5 / ===
o afa F g aeea =T 58

3. ‘workplace’ would not include dwelling place or house / FEHEIT § AT AT AL ATHA
T &
4. All of these / 3ur<w T+t

Correct Answer :-

« The total number of members of the Local Complaints Committee is 5 / =g

oI g afd & g aeeT geaT 5 8

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fadar: fruafafed uy o uyers e ) &
R THIT DI AT | T2

570% 25% + 480 x 60% -318%x 32%="?

1. 329
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2. 390
3.450

4,270

Correct Answer :-

« 329

37) Which of the answer figure is exactly the mirror image of the given
figure. When the mirror is placed on the line AB? / ﬁ?ﬁﬁﬂﬁﬁ?ﬁﬁ'\'&ﬂ?ﬁﬁﬂ

T vy i 3t TL gdur snpfa gt S gdur Ht AB WR v T 82

D148

{a) ) () (d)

H———r

4. d

Correct Answer :-

38) Under whose charge should a child be placed if the child is alleged to be
in conflict with the law? / {3 fafd 1 St F3a * fore frslrera arere w1 gfoe w9 €,
T ITAF HI 9 § | oheeh T9 | |97 SATm?

1. Juvenile Justice Board / fete =g 7S

2. Child Care Services Association / aTel S@HTT T =T
3. State Child Board / /7 a1t a1

4. Child Welfare Police Officer / ater Feamer qfere stfararet

Correct Answer :-

« Child Welfare Police Officer / ater Fearor qfere stfaramret

39) On March 8, 2017, how many Nari Shakti Puraskars were conferred? / a5
8, 2017 & forae AT erf<h TEhe fIw rw?

1. 20
2. 26
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3.31

4. 37

Correct Answer :-

40) What amount of hospitalization expenses does the Rashtriya Swasthya
Bima Yojana cover? / JEdre § TATS & @9 i foha= T TIPT Taresy {1y N1 F 989
Tfera 872

1. Rs. 30,000 / 30,000 =7

2. Rs. 40,000 / 40,000 =73
3. Rs. 50,000 / 50,000 =73
4. Rs. 60,000 / 60,000 =7

Correct Answer :-
« Rs. 60,000 /60,000 =

41) How many triangles are there in the given figure?/ aﬂimﬁﬁ'{ﬁﬁiﬁ
=T fopat 82

1.8
2.10
3.12

4. 11

Correct Answer :-

« 10

42) DIRECTIONS: In question below are given two statements followed by
two conclusion numbered I and II. You have to take the two given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts. /132 9 R TE U & @ HY 3R I9F 91¢ @) A 1 3R 11 few e
g1 3MUP! 3T MY =Y FU=l B TG AT & YA & 9 Fagrd aa) F fi=1 udfta ga 8f1 3+
forspuf @1 ufew e au FifeTe fop feu e foseul & @ o -I1 frepd fag g wy=T &1
THHT U I SRRV HIT 8, dTe Fagrd ax oo W 7|

Statements:/YH:
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All men are horses/?[‘l-ﬁ arratﬁ,a‘l%%

All horses are elephants/J 918, g1 €

Conclusions: /fea:

I. All men are eIephant/H'l-ﬁ GI'IE'Fﬁ, E!T?ﬁ%'

I1. All elephant are men/ﬂ‘l-ﬁ BT%ﬁ, Gl'lﬂ'lﬁ%

1. If only conclusion I follows /3f¢ &ad FshY I &WW%

2. If only conclusion II follows/3dfe &ad FsHY 11 &@TUTW%

3. I either conclusion I or II follows/afe a1 d fASHY 1 &7 11 3FARYT &l §
4. If both conclusion I and II follow /3f¢ B I 3R II G 3IERUT Hd &

Correct Answer :-
« If only conclusion I follows /3fc %ad MY I TR0 BT §

43) When was the Rajiv Gandhi National Fellowship scheme introduced? /
Tofie ey T W farT AT 7 e e a9 ¥ R e

1. 2004-05
2. 2005-06
3. 2006-07
4.2007-08

Correct Answer :-

« 2005-06

44) Which of the following database object hold data? / g d ¥ 19 91 Serey
Siseide ST [T 32

1. Tables/ o
2. Forms / Lo
3. Reports/ RRacH
4. Queries / RIS

Correct Answer :-

« Tables/ R[]

45) Which of the following diagrams shows the correct relation among
Football Player, Cricket Player and Student? / frrafafaa # 9 F19-91 sIRE
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peara fardl, frde faars! ik faendf & fa udt Gy # uehia #=ar 82

Correct Answer :-

46) Rajiv Gandhi Panchayat Sashaktikaran Abhiyan seeks to strengthen the
Gram Sabhas in Schedule areas. / TS el v=maa Terfrer<or srfsaT= &1 A8
& T TTEET ST | UTH TATSA T FLATHHLIT FHAT STT?

1.V
2. VI
3. VII

4. VIII

Correct Answer :-

eV

47) Mechanism to protect private networks from outside attack is/ dTg¥ &

A A el Aead $t e & e S-ar a1 @2
1. Firewall/ HRRAld
2. Antivirus/ QE"IH‘ITIW

3. Digital Signature/ fefsred gxaer
4. Formatting/ AT

Correct Answer :-
« Firewall/ BRIRAIA

48) What is Dual Stack? / SJd W& &1 8?2
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1. Where we put routers / S8l 89 ¥cx 3GT &

2. An algorithm to connect Routers and Switches/ ¥ex 3R f&g=q Hae H31 & o T
TR

3. An interface supporting both IPv4 and IPv6 addresses/ U G Sl g1 SATSUE! 4
3R ST 6 T BT FHLST BT B

4. Where we put switches/ STgf 8H =g w@1 §

Correct Answer :-

« An interface supporting both IPv4 and IPv6 addresses/ U& ety S GiHI 3TSUTd! 4
3R e 6 Ud &1 THYT HxaT §

49) The constitution of Internal Complaints Committee has been made
mandatory under the - / % & & F9a fafam F aqam st e afafa 1 T
e T oA g2

1. Indecent Representation of Women’s Act, 1986 / \fgaTali & srgfter wiatatarea (e
sferfRam, 1986

2. Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal)

Act, 2013 / RTZATSH T FTHEAT T A Iedted (Fareor, gfatrer sz gfaara) sfafay, 2013

3. Immoral Traffic (Prevention) Act, 1956? / sIHfd® g=aTaT< (THATH) Tfafaera, 1956

4. Prevention of Women from Domestic Violence Act, 2005 / =< 8T & ®igaT dvaa
afarfaara, 2005

Correct Answer :-

« Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal)
Act, 2013 / RIZATAT FT FTIEIT 9T A Iedied (Fameor, afaue s sfaam) sfarf==w, 2013

50) Swachh Swasth Sarvatra scheme is a mix of - / To=g @& g9 A9 & q F=A
JISTATSAr HT Fsor g2

1. Swachh Bharat Mission and Kayakalp / &= 9Tea AT 3i¥ FTATHeT

2. Swachh Bacche Swasth Bharat and Swachh Bharat Mission / =g a7 Ta% 9Td 3T
T, AT ATHATT

3. Kayakalp and Swachh Bacche Swasth Bharat / #TaT&eq 3T Ta=g 9 F9€T 91d

4. Swachh Bharat Mission and Pradhan Mantri Swasthya Suraksha Yojana / =g 913d
ATHITH 3T TLTH HAT TqeeT FLAT T

Correct Answer :-

« Swachh Bharat Mission and Kayakalp / T&@=s 91ea AT sfi¥ fwramseq
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DIRECTIONS: Choose the missing terms out of the given alternatives./ﬁﬁ!ﬂ:
fou e fasedl ® @ gud uel &1 J1d B |

cab__c__bdca__d__ abd

1. dabc

2. ccaa

3. bcda

4. abcd

Correct Answer :-

« dabc

52) Human eggs are:/ HJ® FIASTAE
1. Mesolecithal/ HIITIRIYd

2. Microlecithal/ msﬁﬁﬁma

3. Alecithal/ GIbgI

4. Macrolecithal/ HpTARIUS

Correct Answer :-

e Alecithal/ 1B

53)

Rs.62,000 is divided among A, B and C in the ratio of

of the greatest and the smallest part is:/ %.62,000 ol A B IR CH
3uTd H el SITdT 8 196 T8 3R a9 B YT &7 3aR gh:

1. Rs.16000/ ®.16000
2. Rs.14000/ ®.14000
3. Rs.12000/%.12000

4. Rs.18000/%.18000

Correct Answer :-

« Rs.18000/%.18000

54) By selling a plot for Rs.90,000 a person losses 10%. At what price should he

sell it to gain 10%? /A Y@US HI ¥.90,000 F 9T TR TP A DI 10% P T g¥<ll B
10% T ATH UTW B & I 98 39 v Teg R aa?
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1. Rs.90,000/ %.90,000
2. Rs.115,000/ ¥.115,000
3. Rs.110,000/ %.110,000

4. Rs.105,000/ *®.105,000

Correct Answer :-

« Rs.110,000/ %.110,000

55) In which year was the Protection of Children from Sexual Offence Act

passed? / T3 FT AT et & Teror srfarfaaw fre 9 ® aria forar wam?
1. 2010
2.2011
3.2012
4.2013

Correct Answer :-

« 2012

Topic:- Grad_Managerial Skill

1) Suspense is a feature of:/ 3HHS (FWH) 3 faxiwar g:
1. Bar chart/ 8 ¥t (3R =<)

2. Pictorial chart/ foard® IR (UeeiRad =md)

3. Strip tease chart/ S&dH® I (Reu & q1e)

4. Pie chart/guds dfeH (U dT¢)

Correct Answer :-

. Strip tease chart/ IS A (ReU I =1¢)

2) The definition of communication implies that:/ IdR &1 ufyuTaT o1 fifa ardf @
f&:

1. Communication is mostly verbal/ IR 3ifeixd: Mfeed (MAH) g 8
2. Communication is mostly written/ G9R 3ifiemiera: fofed gar g
3. Most communication is in a vertical direction/ & TIR S fexn & giar g

4. Understanding must occur to have communication/JdR P & AU THIAT TR g
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Correct Answer :-

« Understanding must occur to have communication/JdR P & AU THIAT TR g
3) Which group comes by law?/ $H-01 G4g faf¥l ($17) g1 97471 82

1. Marriage/ faare

2. Engagement/ 9aydl

3. Courtship/ SFI¥oIH/TURAME (HICRT)

4. All of the above/G”CPjTﬁI ekt

Correct Answer :-

« All of the above/@éﬁﬁ ekt

4) Origin from same ancestors are known as:/ JHIF [dol Td g1 &I

e ¢

1. School/ faemer™

2. Kinship/ ST

3. Neighbourhood/ G{H-U@ﬂ

4. None of the above/G'CIﬁTﬁ 7Y ?ﬁé T8l

Correct Answer :-

« Kinship/ ST=dl

5) What is the period of First Five Year Plan?/ q?ﬁ Tgaufg i &t 3rafty <t
1. April 1, 1952 to March 31, 1953/1 3/0d, 1952 ¥ 31 AR, 1953

2. April 1, 1951 to March 31, 1956/1 3{Ud, 1951 ¥ 31 AT, 1956

3. April 1, 1954 to March 31, 1957/1 30, 1954 ¥ 31 HTd, 195

4. April 1, 1953 to March 31, 1958/1 3/Wd, 1953 ¥ 31 A, 1958

Correct Answer :-

. April 1, 1951 to March 31, 1956/1 3@, 1951 ¥ 31 A, 1956

6) The outline of second five year plan was made by-/ 3?1 Yaaufa g1 &1
Ol = gAY -

1. Charan sing/ a_Ul Rig
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2. Fazal Ali/ i@ 37ci!

3. P. C. Mahalanobis/ o, =i, HB]FIFﬁﬁFH
4. Kunjru/ $o®

Correct Answer :-

« P. C. Mahalanobis/ Ut. It. #gTamHIfag

7) Fees are required to be a part of which social group?/ f&d IS 94g &
YNT & ¥4 & Yeh! BT 5T ATaAD 82

1. Family/ gRaR

2. Neighbourhood/ N-U3
3. School/ fagTe™

4. All of the above/ ITdad T+t

Correct Answer :-

« School/ fa=Te™

8) is vested with democratic style of leadership:/ ﬁ?Fq' G|
Arwart-as et | fAfza @

1. Negative motivation/ THRIH® URUM
2. Centralization of authority/ UfIBR BT BIh0T
3. Decentralization of authority/ WY& R &1 fddb-<=iaor

4. One way communication/U®h-qRbBI YAR

Correct Answer :-

. Decentralization of authority/ @R &1 fab<idm

9) If the group have both ability and willingness to work the suitable
leadership style is:/ af¢ TUE & ST HI Bt Faar 3R BT a1 gl af UGS A
Breft g

1. Telling/ SdTET/h gl
2. Selling/ ST

3. Participating/ HTT o1
4. Delegation/wfafgfad (w1 i)

Correct Answer :-
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« Participating/ YT T

10) Who prepared the Fifth Five Year Plan?/ UT=dl taadfa aieAT faa auR &t
&2

1. Mahalanobis/ II‘@“IFFﬁﬁH
2. K. C. Panth/ &. dt. uref
3. Vaghela/ arga

4. D. D. Dhar/Sl. 3. 4R

Correct Answer :-
« D. D. Dhar/3l. 8. &R

11) All of the following are personality characteristics that are associated
with individuals who emerge as leader except:/ 399 9 f&a B 7 37 At
faPer Aqamdl & U H IURA aTd Afwal § JafRe aafeaa sifrae §2

1. Emotional stability/ HIdATH® RRar

2. Agreeableness/ fOTdT (Y8Hd 8F &1 TRD EE1)

3. Extraversion/ a%ﬁ&ﬂ ikl

4. Openness to experience/ 3IYd & foIT GaTa= gl

Correct Answer :-

« Agreeableness/ fOTdT (¥8Ud 811 &1 gD oIHT)

12) communication is also known as grapewine:/ TYOR &I gy
(Iars) HAR oft Fd &

1. Formal/ KIEIIED

2. Informal/ 3FTATRE

3. Lateral/ OTf¥&

4. None of the above/mil?r el ?ﬁg :|€°f

Correct Answer :-

« Informal/ 3FUTR®

13) A group is a of different personality:/ 99g, fUs afeaadl o1/3t

gl &:
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1. Unit/ ST

2. Tradition/ TXFRTSA
3. Skill/ BIA
4. All of the above/3udad I+

Correct Answer :-

. Unit/ S&TS

14) Planning commission was established by Government of India in-/ HRRd

WHR A H T STIRT ®TfUe fopar r:
1. January 1949/ SHa3l 1949

2. February 1951/ ®Rax! 1951

3. March 1950/ A/ 1950

4. May 1948/Hs 1948

Correct Answer :-

« March 1950/ A 1950

15) A leader who is honest in speech and upright in character exhibits- /s

Yqawat oY uTevr qu oA § SRR AT d A ot @
1. Patience/ orf

2. Servant hood/ Ya&d

3. Integrity/ IS

4. None of these/ 38 ¥ ®Is gl

Correct Answer :-

« Integrity/ IS

16) The desire to reach to the peak to one’s potential is called:/ 30 WTHA &
M T uga I 3T Y Fed o

1. Self-actualization need/ WIY[d (W8 & dIY) D HTAIDH AT

2. Safety need/ IR&T &1 TaGDHT

3. Esteem need/ IHE B 3ARIH I

4. Social need/IM™IN® ATTIHT
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Correct Answer :-

. Self-actualization need/ WY (WG & TY) DI MIGH T

17) Common language is a factor of which social group?/ ITsT HTHT fFd
HTHTR® HE &1 Ueh 82

1. Political group/ NEEIGED R
2. Family/tlﬁ?ﬂ“\’
3. Clubs/ a<id

4. Crowd/Hts

Correct Answer :-

« Family/ ORaR

18) “Leadership Motivates the people to work and not the power of money”,

this concept is related to:/ “\qd AN &I BT HA & o€ Afvd Har 3, 47 3t feq
T8, gg YR q R §:

1. Autocratic model/ PR/ TH AT Algd

2. Custodial model/ 3fiReft Arsa

3. Supportive model/ &I'j’tﬁw Aigd

4. Collegial model/dgd/Hed! AlSd

Correct Answer :-

. Custodial model/ 3iftReft ATsE

19) A leader should not /Aqa®dl 3t T8 g arfee /=18l 91fgu:
1. Be confident/ TG4 ¥ q;Uf

2. Magnify his achievement/ 3T IUAf B del-del P feam

3. Receive encouragement/ OieiTe U T

4. None of these/ sﬂﬁ q Ebﬁ'sc TE?f

Correct Answer :-

« Magnify his achievement/ 3O IAf B del-dgl dhX e
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1. Personal approach/ Sfadid ggfd
2. Farm approach/ ®TH Ugfa

3. Group approach/ IM{g® Ugld
4. Mass approach/9ds Ugfd

Correct Answer :-

« Group approach/ IMgfg® Ugfd

21) Intervals are a feature of which type of chart?/ 3=RTd, f&g yeR & dfE
(Tré) @t fa=ivar §2

1. Time table chart/ ¥Hg-gRUfl ¥f=
2. Line chart/ @1 dfeA

3. Bar chart/ g8 dfF (SR dTC)

4. Graph chart/ 3ficig dfes (I =1C)

Correct Answer :-

. Time table chart/ HI-IRUN IRF

22) The Atomic energy commission of India was started during:/ HRdd

TWRHTY] Sl STERT & R 3R T T o
1. First Five Year Plan/ Ugdll Ugaslg aieT

2. Third Five Year Plan/ die<t U=auig arer

3. Fifth Five Year Plan/ UT=d] Ugauig gieT

4. Seventh Five Year Plan/Tdd! U=asid e

Correct Answer :-

« First Five Year Plan/ Ugdll UIdSg el

23) The technique of “sociometry” to measure social relationship was

developed by:/ ATHING T BT ATYT HI I “JHTSTHIG” ATHS dH-1H 3
fawia ot 4t

1. Maslow/ﬁ,ﬁﬁ

2. James victor/ S fdaey

3. Jacob Moreno/ Siehd HIRA!

4. Feredic Herzberg/ﬁﬁﬁ'@ B\_ri“@l‘f
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Correct Answer :-

. James victor/ 9/ fAgex

24) Which Five Year plan was termed as “India’s Educational Plan” by
Manmohan Singh?/ {53 teadfa ais1 &) v=we Rig 3 "yRa @1 e geE wen
Yr?

1. Ninth Five Year plan/ Fidt taafa g

2. Tenth Five Year plan/ &gd! G=asfa g

3. Eleventh Five Year plan/ TRgd! Uaauf T
4. Twelfth Five Year plan/dRgd daayfa areT

Correct Answer :-

« Eleventh Five Year plan/ TRgd! Gaayig i

25) Green Revolution resulted in advanced agriculture in India during:/

& R gRa PIf=r A HIRd § SR & Iad =T
1. Second Five Year Plan/ Gu¥l Uaaufa gier
2. Fourth Five Year Plan/ =it taaulg giem
3. Sixth Five Year Plan/ ©adl Uaaqulg e
4. Eighth Five Year PIan/&HBEDfWGqu T

Correct Answer :-

« Fourth Five Year Plan/ =t U=qsfg greir

26) Which Five Year Plan was in progress during the celebration of 50 years

of India’s independence?/HRd $ Tdadl & 50 TUT & IHd P R P-4l Taauly
IS 9 Tel A2

1. Sixth Five Year Plan/ ©ad! Ugasig areT

2. Seventh Five Year Plan/ 9Tdd} t=adfg gieHT
3. Eighth Five Year Plan/ 33d! Geayfg i
4. Ninth Five Year Plan/ Fidt U=a@sg g

Correct Answer :-

« Ninth Five Year Plan/ i} Ueasfg T
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27) Leadership is :/Aqa e

1. The process of influencing a group towards the achievement of goals/ 9Hg & d&dl
Dt I ot fa=m § gutfad o= &1 ufean

2. A group that achieves goals/ W& U 6= dTell 998

3. The function of influencing a group towards the achievement of goals/ 9¥g AR
DI T o1 fg=n & gyifad o= &1 gl

4, Directing a group towards the achievement of goals/ 9¥g P aedl P U ot fozm o
AT

Correct Answer :-

« The process of influencing a group towards the achievement of goals/ 9Hg P &l
&t Ui ot fo=n § gutfad o= &1 ufesan

28) National planning committee is appointed under the president ship of

Jawaharlal Nehru in-/ It smarsn aftfa #1 fgfet sarevara A5 @t srwardr §
af # o T @

1.1930
2.1932
3.1936
4.1938

Correct Answer :-

- 1938

29) Members in Friend circle are a type of which social group?/ fiF dsdt &
e frd U &1 ArHTfore 99g 82

1. Out group/ SEHg (3M13C-JU)

2. In group/ 3R (39-H)
3. Functional group/ HrafEs g

4. Political group/ToiAfde TYg

Correct Answer :-

« In group/ 3<TUHE (37-J0)

30) Frequency of interaction is a factor of which group?/ 3=ifshal B TRFEERGT
e Tg @1 U 82

1. Primary group/ UTiffie 99g
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2. Political group/ JSIAfad T

3. Small group/ oY g
4, Income group/ 3T 9Hg

Correct Answer :-

« Primary group/ It Ea DR

31) In which year was the Twenty Point programme of India launched?/ HIRd

31§19 T Frdsd o aif Ry gam Ur?
1. 1970
2. 1975
3. 1980
4. 1985

Correct Answer :-

« 1975

32) Example of graphs are:/ 364 (ITF) P ISIET0T &
1. Area graph/ AAB T

2. Line graph/w 3G

3. Bar graph/ GSIcid

4. All of the above/3udad Tt

Correct Answer :-

« All of the above/G’quﬁ gt

33) The least used communication channel in an organization is usually:/

TS | THAR W AR At () DT UGN HaH HH T ©:
1. Upward/ SURl/Sedaqt

2. Downward/ G{Eﬁ'ﬁ@

3. Diagonal/ fa@of

4, Horizontal/aﬁl\_ﬂ

Correct Answer :-

. Horizontal/aﬁlﬁf
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Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./
e Frrafafea e @ wrgde tees 39 1 5 T sgfawal uxl o 98t fawea &1
T B

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T SATLTCT GATT HITAT HT T ATOFT H FieT ST qhaT & ATfoxh () < TLrTioa|
AT AT & ST, T, GEHHT AT FATSE & ATg TAAT g1 AT S GAAT| ARTIATI dTqH1d,
ST STa=ia S Sia=TiaE Teqiad | T T STIH G (AZST) < 1A (FILHH) g
&l TN & TIAd 9T, T Had dio §U A1 9, Fiodh Ieh SoATI & qLleh, a7, T, I 3T
AT & oY, ST AT qoAT THT-315fF ST AT AT AT ITHT oref qF grar g et ofF
JTAHNT, TEIIT AT BT Fi AT  TgA, A {AAT hT AATRAT FT o 3T Tq+AT Fra=ia
T T GCAAT QAT FX A, T AT Gt ART I T TR S AZA g AGE AT T A7 &,
i STaTT TRt TIET T ATST TAL-SHT AT & AT AA AT HT T&TH | A=A o A
#, 39 A vg foget & gferd faaor 1 SHa & <A1 Agcaqur grar g S a2 o == e
ST T 3, S99 STaT 7 g1 1A § 3 FAT LA I T Uger S AT HA SATAT B
ATAA T T T AT FEA ATAT U 3T FYAA &, T8 & T8 TRAT FoF =147 F 919 qra=iq 3 &
orT foFqeT g\ §, 91 1 ST 99T o Sa¥ T@AT, TIT ATh & GHT T FEIART A1 HLAT
T HL AL, ATAT TTUT, TILAT, S A, TE[-FET HL qTq HIA, AT SAATFAT HLA,
THTCHHAT, ATATASTARAT ST ATFAAT & T, FA(Th S 7 Al FAT STTATAT L IATorq
BT STURTT, Sfedh ST W STOT freqa=aar @r <3 qAT YA W& (FATIATARAT) T T gl
FOT| TS TG AT T (60 T THIE §; T ITAT &<, fTHT T & Tk, Tat SATHTT TIRT
T, TTE T 3T SA1QT 6 & T97C T F forT 5 el &7 I1-a1 T T F:3

Which are the two communication skills discussed in this comprehension?/

D¢ | fr & IR Prwrel Y 7=f ) 7E &2
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1. Verbal & Non-verbal/ e TG Mo h
2. Formal and non-formal/3iu=ies Ta U=
3. Interpersonal and intrapersonal/ 3fdRaafddsd Td iardafadd

4. National & International/I¥1d Td SIaRIPT

Correct Answer :-

. Verbal & Non-verbal/ Yfecd TG 3RMMfecdh

2) DIRECTIONS: Read the passage and answer the questions that
follow.fd=: fFafafad werizr & eryd® ygar 3u - fed T agfawadt ux & I8
fape o1 TaT B

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T ATATIT FATT HITAT T T ATAT | F{T ST GhaT §; ATfeaaw (HITEF) i emfsas
AT AT & ST, T, GEHHT AT FATSE | ATg AT g1 AT S GAAT| SAATIATI Irq41d,
AT STa=ia i< =TI Teqia | T T STLH YL (AZST) < AT (FILHTH) Jrr
& TN & TIAd 9T, T Had dio g4 M1 9, Fiosdh Ik SoAT & qiieh, A, T, I 3T
AT | T, STRT T TAT AHT-3THT ST TIAT AT AT I o7 qF grar g1 et ot
JTAHNT, TEIIT AT BT Fi ATAHNT § TgA, A A=A T FAFTRAT FT o ST STq+4T Jra=hia
& T AT QAT F A, T AT Gt ART I T T3 S AZAqU g Al AT | I q7 &,
I FTAATT AT FIL@T F FTET TE-IYL gedT § AT AA AT ST TS HL| Ira<0d 6 A
#, 39 A vg feget & "fera faeor &1 SRa &7 <A1 Agaqur grar g S o< o == e
ST T &, THH ATqT GF g1 SATAT § 3T =T AT g9 ¥ Ug I AFhI (A 1At Bl
ITAAT & T AT FLA ATAT T S H AT g, T8 & T8 TSAT 1% ST 6 ITH Sra=1q LA 6
orT foFqaT g5 &, 91 1 ST 99T & Sa¥ T@AT, TIT ATHh & GHT T FEIART qg1 HLAT
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T HLT G, AFAL ATYT, TILAT, B A, TRI-FRT HL I1T HLA, AATATL STATAAT FHA,
THRTICHEHAT, ATHTASIARAT ST STAFIAT & T4, FI1%h 9 7 Fael AT ATATAT 3L ST
BT STUNT, Sfodh ST WT SOt freqa=aar @ < qAqT YA & (FATIATIARAT) T T gl
FGN IS @A ATTF FG [6g o0 THE §; T7L I=a10 e, fiHlft T & TIA, g1 AT TIHT
Y, TOY T T oA1aT 6T & F9TC Ta= F 7w =5 ersal &7 I1-am T 7 F:3

When speaking to others what is a matter of concern?/ §'\‘R°r ¥ 919 Bd qHd

-1 9 Ageaquf gidt 82

1. Pronunciation/3<=RUI

2. Tone/ ¥R (<)
3. Emphasis/ SR T
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3Iudad Tt

3) DIRECTIONS: Read the passage and answer the questions that follow./
o= fFafafed Ty & eaFyde yea 39® A fd T sgfamedt uxi o T8l fawea &1
TG B

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T AT GATT RIAT HT & ATOIT | FIeT AT ThaT & ATfoah (W) < LTI
A & F AL, T, GGHHAT AT FATSE § AT AT g1 AT IH FAAT| SEIIATIE Srq41d,
AT STa=ia S Sia=TiE Teqia | T HT STIH YL (ASSAT) < AT (FILHTH) g
&l TEU & A 9T, T Had Gl §U M1 o, Fhod I I=AT & ALk, 9, S, L X
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AT & T, START TR TAT THT-STHT ST TIAT AT AT ITqHT 7 qF grar gl et ofF
JTAHNT, TEIIT AT BT Fi ATAANT § TEA, A [AAT T FAATRAT HFT o ST a7 Jra=ia
T TFH GLAAT GATC FE o, THY AT Gl AW 9L T TR A Agea Ul T6g Al STl I 97 &,
i FTAA T TR FALET T ATST TE-IUT FedT & a¥ A ATaeT St T2 HY| Sra=0d 6 A
#, 39 fuy ug feget & d@fera fHawor it SRra X 397 Agcaqet grar g R a2 o ==9f 1
ST TR &, TO9 ST 9 g1 ATAT & 3 T4 A g9 ¥ I8 39 St f¥er Srefy )
JTAANT & g ATIq HLA ATAT T 3L HIAA 7, q8 & T TIAT {6 AT & qT9 JIaATq FLA 6
orT FoRaeT 993 §, =T &1 SHT 0T & HEL T@AT, TIAT SATE & 9T FT EIANT A5l HLAT|
T HLA T, ATAT TTYT, TILAT, S A, TET-FET FHL qTq HIA, AT SAATFAT FHLA,
THRTCICHRAT, TTHTASTAHAT 3T THIAT F &=, FAT(oh TG 7 vl ST ATHATAT T I
BT STUST, fedh oq W1 Sro=t fereqa=aar @r <& AT YA @ (FATAATIARAT) T T "5l
FUT| TS W@ ATAF T (65 36 T 8, T IoAT he, fTHT A F A, @t SATHTOT TIRT
L, T T AL AT il &= JATC T@A & (7T 5 51 HT -1 TINT 7 F2

What will keep us on the right path while communicating?/ ¥dR PHId JHY T
I g9 98! At W) g41e I@ifi?

1. Arrange your audience/ 3O YISl B AT HIAT
2. Arrange your thoughts/ 30+ faaRl & Zafyd &
3. Arrange your things/ 301 a¥d3ii &1 HARRYd BT

4. All of the above/3udad I+

Correct Answer :-

« Arrange your thoughts/ 30 IR & TARYT HIAT

4) DIRECTIONS: Read the passage and answer the questions that follow./
frdr: frafafea Tew &t earyde Teat 39 A f T sgfawedt uxl & 98t fasea &1
AT BN |

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
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also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

TG AT FATT HITAT T QT ATOAT | F{ET ST qhaT §; ATTeaaw (HITEH) i srerfeas
A & F AL, T, GEHHAT AT FATSE § AT AT g1 AT IH FAAT| SEIIATIE Srq4d,
AT STa=ia S Sia=Tia Teqia | S T STIH YL (ASST) < AT (FILHTH) g
&l TEU & A G99, T Had ol §U M1 &, Fhodh I I=AT & ALk, 9, S, Ll
AT & T, ITRT ToAToHT TAT THT-3THT ST TIAT AT AT IqT 7 qF grar gl et ot
JTAATT, TEIIA AT B DI ATAANT F Tgol, I (AT T SHARIT HL A S AT ITqA 1
T TH GCAAT AATC HL o, THY AT Gl AW I T T30 AL Agea Ul 16§ Al STl I a1 &,
i AT AT FILET T ATST TE-IUL FedT & AT A=A AT St T HL| Sra=0d o A
#, 39 fauy ug feget & fera fRa<or it SRra T 397 Agcaqet grar g R a2 e ==9f
ST T2 8, TH9 ATAT 97 g7 SATAT § 3T T=T AT g9 § Tgo IH A1 (A4 A1t 8l
ITAHT & T ATord LA ATAT T ML FIAA &, T8 § TG TIAT T AT F 919 qIa=1q HLA
orT fopaeT g\ §, 91 1 ST 90T F QX T@AT, TIT AT & GHT T FEIART 71 HLAT
T HLA T, ATAT TTUT, TILAT, S A, TET-FET FHL qTq HIA, AT SAATFAT FHLA,
THTIHFAT, ATHATASTAHAT N THAFIAT F T4, FAN 6 79 7 Haol FdT ATATET AT IAfora
BT SITUST, Sfodh ST WT SOt freqa=aar @r <9 AT YA W& (FATAATIARAT) T T4 "5l
FGN IS @ ATTF FG, [6g o° THE §; T7L a1 He, dfiHly 00 & T, gl AR TT0T
Y, TTY T 3T of1aT it & T9TC Ta= F forT = ersal 7 S1-am T 7 H:3

Another skill to acquire before a conversation is:/ STddld ¥ UgA 3ffoid HIA BT
TP 3R P &:

1. Time of the audience/ #dl &1 IHY

2. Money of the audience/ YT BT ¢
3. Interest of the audience/ Idl &1 B
4. None of the above/3WRad & I B gl

Correct Answer :-

o Time of the audience/ odT BT gHg

5) DIRECTIONS: Read the passage and answer the questions that follow./
o Fafafed e o wryde yess 9@ Y i T sgfawat uxl o 98t fawea &1
AT BN |

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
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forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T AT GAT RIAAT HT QT ATOFT H FIeT ST ThaT & ATfoxh (HTTEH) < rLrTioa|
AT AT & ST, T, GEHHT AT FATSE AT TAAT g1 AT S GAAT| SAATIATI ATqH1d,
AT STa=ia S Sia=TiaE Teqia | T T STIH YL (AGST) I ATCA (FILHH) g
gl TEU & A g9, T Had aIol §U A1 °, Fhodh I I=AT & qLieh, 9, L, L M
AT & oY, ST GeATeha a7 THT-313fF ST AT AT AT ITHT oref qF grar g Foweft ofF
JTAATT, TEIA AT Bl HIA ATAANT F Tgol, AT (AT T SHARTT HL A S AqAT JTqA1q
T T GCAAT QAT FX A, T AT At ART I T TR S AZA fog AGE AT T A7 &,
i A=At AT TILET T ATST T-IYL GedT & AT AA AT ST TS HL| qra=id 6 LA
#, 39 fouw ug feget & d@fera e it SRra X 397 Agcaqut grav g R a2 o ==9f
ST TR &, S99 ST 97 g1 S7a7 & < =1 S g ° I8 9 A1t {7 JATdt 8
AT T & T AT HEA ATAT U 3T HYAA &, T8 & T8 TRAT FoF =147 F 979 qra=q A &
orT foraaT g\ §, 91 1 ST 99T o S(a¥ T@AT, TIT ATh & GHT T FEIART A1 HLAT
T HL A, ATAT TTUT, TILAT, S A, TE[-FET HL qTA HIA, AATL SAATFAT HLA,
THRTICHHAT, ATHATASTARAT ST ATFAAT & T4, FA( T 59 7 Al FAT STTATAT L IATorq
BT STUST, Sfedh ST WT STaT freaa=aar @r <3 qAqT YA & (FATIATARAT) T T gl
FOT| TS TG AT §F (64 T THIL &; TN ITAT <, &THT T T Tk, Tat SATHRTT TIRT
T, TTE T T A1QT 6t & T9TC T % fore 5 rsat &7 a1-a1e T T F:3

What will lose credibility of your communication?/ &1 el 3P FEAR P

fayritaar @ a= e
1. Use of slang/ 3118 HTNT T IUTNT

2. Gossiping/ TTURMU

3. Lying/ Yo ST
4. All of the above/3dad It

Correct Answer :-

« All of the above/qujTﬁ gt

6) DIRECTIONS: Read the passage and answer the questions that follow./
o= fFafafea Teiw o eaFgde yea 39® A i T sgfamedt uxl o T8l fawea &1
T B
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Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T AT FATT AT T &7 ATAT | F{eT ST qhaT §; ATfeaaw (HITEH) i Aerfeas
XA AT & ST, T, GEHHT AT FATSE | ATg AT g1 AT S GAAT| SAATIATI d1q41d,
ST STa=ia S Sia=Tia Teqia | T T STLH YL (AZST) < AT (FILHTH) g
& TN F TIAd g9, T Had dio g4 A1 &, Fiosh Ik SoATI & qLieh, A, T, L 3T
AT & oY, ST GeATeha qoT THT-STF ST AT 9T AT SHHT oref qF grav g| et o7
JTAHNT, TEIIT AT BT FiS AT  TgA, A (AT hT AARAT FT o ST STq+AT Jra=ia
& T GCAAT QAT F A, T AT Gt ART I T T30 Sl AZaqU 6§ qgl AT | I A7 &,
i aTa=ta TRt TAET T AVST TER-IUT gl & aF = iarae ot & HY)| Sra=ia F M
#, 39 A ug fegel & gfera faaor &1 S0a % <A1 Agaqur grav g o 9% o == <
ST T &, T ATqT 97 g1 1T & 3T T=T LT g9 F Tg I ATFhI (4 1At Bl
ATAATT & TEA AT HEA ATAT U 3T FIAA &, T8 & Tg TRAT T 14T F 979 qra=iq H7 &
orT forqaT g\ &, 91 &1 ST 99T & Q¥ T@AT, TIT ATh & GHT HT FEIART qg1 HLAT
T FHL T, ATA YT, TILT, S A, TET-FET HL qTd HIA, AT SAATAAT HLA,
TRTCHHRAT, ATTHTASTARAT ST TAAAT & T, FAT1h A9 T el FIAT ATATHT T ST
BT ST, afesd sra off st fregaeaar @v < AT YA W@ (FATIATAHAT) FT T T qal
FCA AT T ATIF F (&g 30 T §; T I==9meor 3, il af7 & 9, &t SArewer y=anr
L, TIY T AT AT T & IATC T@A & (77 T 51 HT -1 TINT 7 i1

What will keep the listener interested?/ &1 9 HidT @t ¥ g9 W@IM?

1. Use clear pronunciation/ WY 3=RU[ &I TN
2. Speak slowly/ et fa 3 Sren

3. Use correct grammar/ Tg! ST R0l YIRT BT
4. All of the above/3dad It

Correct Answer :-
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« All of the above/3udad I+

7) DIRECTIONS: Read the passage and answer the questions that follow./
i et T ot eaFyde yeae 39 A fed 1 sgfawadt uzat & ugl faweu &1
T BN |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

Y & AR F 8, 17 A A 7 Hadd AR & JTy] o1, Ifep 99 9 IRa &7 ¥ §AaR
A & did! B W T B T F 1 U IHT § I & @ IR B aRRe A 3R 59
UPR 9 3FTe FaT & fae sifirera ois wird A1 gfeor smfyer &Y g&1 Ivaar & anT 9rn
& B3 TN cpal B T Ry G & 7ie aiud ¥ 3N T HexEare® gRI 39 SATd 79 a&
UgaTa A1 HF AN SIS W A g B HRMETed gRT Ugdard 3, 3R $© N HR@es
o BT AR W3 ugaard &1 Ty § fp Har & g7 A1 & 9y 9gq I wwwny F)
gfe forelt 3 DI W@ Well, df YdRATe® gRT ITAT & GRTF Hox @l d86-T a1 34 fagpd
PR 1 T o1, forfEa wawr @ +ff gpar uTi 3R BT, A W HeRare® ®! Iuedl iR
FIB! ¢ a@ 1R v 3, faRiy = A &dt ghval & amma o1 9w 8 6 fafis awarei &
SfYPTIfP Bed STH & 1Y, AW 9 G YOR B ATIIPHdT el o et N1 57 {4 &7
UEdT ST AT (AR) & fIPpR & &9 § e, 39d a1¢ TewiA & iR Sidd: Iegar
BIF & ¥ H| 3R gTifd B o1 MfIPR TP A AMTPR AT, R 3B $O Bl
ot |

Who carved on rocks for communication?/ IR & folg TRRY &1 S dR=e 4?
1. Roman/ JH & dI

2. Americans/ WA DT AT

3. Egyptians/ 9 & @

4. None of the above/IWRIad ¥ ¥ D5 ol

Correct Answer :-

« Egyptians/ i & @
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8) DIRECTIONS: Read the passage and answer the questions that follow./
frdar: FafafEa e @ erFyde teas 3ud N ol 1 sgfawal uwal & uel fawer &1
AT DL |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TG & AR A g1, G AR A 7 Had "dR & JTY] oI, I a9 9 9¥d &7 F AR
1 & did! B W TAT HIa T F | U= IHT H I & @ IR B aRIRe A 3R 59
UPR 4 SATeN FdT & fae sifirera ois wird A1 gféor smfye &t &1 Iaar & @it 9rm
& B3 TN cpsl B T Ry G & 7fe aiud ¥ 3R U TeREre® gRI 39 AT 9 d&F
TEaTd A1 B AT DTS W W G HY HERMATed gRT Uggard 3, 3R 8 @M We@es
U PR WGP A Uggard A1 WP ¢ fF FaR & 37 I8l & I1Y 959 ot gawng H
g foreft A PIS Heae® Ue, a1 HARATEP GRT AT & IR Yo @ Ja71 a1 34 fIpa
$Y AT AT T, fofa "= @ Y Fopar ur1 3R &, A e HeR@re®d & auad R
FTHI gg aP AR Fa 3, faiv = 9 &t gfal & are 91 a1 3 6 fafis awaaet &
Sfp1fYe Theld SIT9 & H1Y, a9 9 O3d AR DI ATaIHdT Idt of et N1 59 AT H7
gl STR SN (dR) & ISP R & &U § firdr, 39& a1¢ Seliwia & 3T 3idd: Aeger
B & &9 T | 3R gTaife B &1 IR TH UgH AMTATSHR UT, R B $S Hiuai
ff of)

Who knotted several colored pieces of string in a specific pattern and had a

messenger run to the next village to deliver it?/ PI-T dRT 9T F ?ﬁf LIk
gPs! B Uo faAy Bed | 7 siud & 3R Ue Haxmare® gRT 39 3ATe Tiq 9@ Ugdrd A2

1. South Americans/ &0l 3HRIDT AR
2. North Americans/ 3t} MB!I
3. Germans/ ST & @R

4. Africans/Bﬂ;ﬁW & AN

Correct Answer :-
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« South Americans/ Gf&oT 3Fie! AR

9) DIRECTIONS: Read the passage and answer the questions that follow./
frd=r: fFrmfafea T 6t eaFyde yeae 39 A fed 1 sgfawadt uzat & udl A &1
T DN |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TG & R | 8, T UM A 7 Had IR & A1) B, 9fep a9 9 TR &1 A TuOR
P & D! B W gary Fa e g1 Ui 9 # e & @ uR) B aRee ¥ 8k 59
UPR 9 3FTeN Gl & fae sifirera ois wrd A1 gfeor smfyeT &Y &1 Ivaar & anT 9rm
& 3 TN sl B TP fARy et § 7T ared A 3R Tw HIRMAES gIRT A AT G 95
UgaTa A1 HF AN SIS W A oG B HRMETed gRT Ugdard 3, 3R $© N HR@es
o BT AR W3 ugaard A1 Ty § fp HaRr & g7 A1 & Wy 9gq  wwwany F)
gfe freft A Big Ad=m@Te® WS, O JSAIED §RT AT & SRIF A Wl 9671 a1 I fapa
$R AT 3T T, forfaa ez @) ff Tarar U1 3R 8T, A WX YeRars® ) Tuadl W
FIB! ¢ a@ R v 3, faRiy = A &t gival & ama o1 91w 8 6 fafis awarei &
SfYPTIfUP Bed STH & 1Y, AW T G YOR B ATIIPHdT el o et N1 57 {4 &1
UEdT ST AT (AR) & TP & &9 § e, 39d a1¢ TewiA & iR Sidd: Iegar
BIF & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR UT, W qB $8 Huai
ff of)

When will the messenger lose communication?/ H¢REAE® AR () Hd @i
Y41 UT?

1. In the communicating process/ ¥dR &I Ufdar #
2. In the travelling process/ 9=l P! gfrar

3. In the sleeping process/ i &1 ufshar |

4. None of the above/IWRiad & ¥ s g1

Correct Answer :-
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« In the travelling process/ d=T P! gt

10) DIRECTIONS: Read the passage and answer the questions that follow./
i frmfafea T 6t eaFyde Yese 39 i fed 1 sgiawadt u=at & Ol faweu &1
T DN |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

Y & AR F 8, 17 A A 7 Hadd AR & JTy] o1, Ifep 99 9 IRa &7 ¥ §AaR
A & did! B W T B T F 1 U IHT § I & @ IR B aRRe A 3R 59
UPR 9 3FTe FaT & fae sifirera ois wird A1 gfeor smfyer &Y g&1 Ivaar & anT 9rn
& B3 TN cpal B T Ry G & 7ie aiud ¥ 3N T HexEare® gRI 39 SATd 79 a&
UgaT A1 HF AN SIS W A oG B HRM@ETed gRT Ugdard 3, 3R $© N HR@es
o BT AR W3 ugaard A1 Ty § fp HaRr & g7 A1 & Wy 9gq  wwwany F)
gfe fedt = P T=ae® WS, df JSRATEH GRT ITAT & SR W @ 9871 91 39 fapa
PR 1 AT o1, forfEa wawr @+ gpar uT 3R BT, A W HeRare® ®! Iuedl R
FIB! ¢ a@ 1R v 3, faRiy = A &dt ghval & amma o1 9w 8 6 fafis awarei &
SfYPTIfP Bed STH & 1Y, AW 9 G YOR B ATIIPHdT el o et N1 57 {4 &7
UEdT ST AT (AR) & fIPpR & &9 § e, 39d a1¢ TewiA & iR Sidd: Iegar
BIF & ¥ H| 3R gTifd B o1 MfIPR TP A AMTPR AT, R 3B $O Bl
ot |

Why was there a need for fast and easy communication?/ o 3R WRd WER Bt
ISl | A2

1. Lack of interest/ ST BT UG

2. People were becoming rich/ AT R BB Y

3. Civilization being more spread out/ I¥d¢ 3T et gt of
4. None of the above/IWRIad & ¥ s g1

Correct Answer :-
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« Civilization being more spread out/ J¥IdIy 31w et gt of

11) DIRECTIONS: Read the passage and answer the questions that follow./
i frmfafea T ot eaFyde yese 39 A fed 1 sgiawadt uzt & ugl faweu o1
T DN |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

Y & AR F 8, 1T A A 7 Hadd AR & JTy] o1, Ifep 99 9 9a <71 ¥ 99’
A & die! B W T B T F 1 U IHY H I & @ oRR) B aRRe A 3R 59
UPR 9 3FTeN Gl & fae sifirera ois wrd A1 gfeor smfyeT &Y &1 Ivaar & anT 9rm
& B3 TN cpal B T Ry G & 7ie aiud ¥ 3N T HexEare® gRI 39 SATd 79 a&
UgaT A1 HF AN SIS W A oG B HRM@ETed gRT Ugdard 3, 3R $© N HR@es
o BT AR W3 ugaard A1 Ty § fp HaRr & g7 A1 & Wy 9gq  wwwany F)
gfe fedt = P T=ae® WS, df JSRATEH GRT ITAT & SR W @ 9871 91 39 fapa
PR 1 AT o1, forfEa wawr @+ gpar uT 3R BT, A W HeRare® ®! Iuedl R
FIB! ¢ a@ R v 3, faRiy = A &t gival & ama o1 91w 8 6 fafis awarei &
SfYPTIfUP Bed STH & 1Y, AW T G YOR B ATIIPHdT el o et N1 57 {4 &1
UEdT ST AT (AR) & TP & &9 § e, 39d a1¢ TewiA & iR Sidd: Iegar
BIF & ¥ H| 3R gTifd B o1 MfIPR TP A AMTPR AT, R 3B $O Bl

ft &)
The demand for fast communication came with : / A9 YR B HIT BT
I ¥ firar:

1. Invention of telegraph/ U (dR) & IAHR

2. Invention of telephone/ TUHHH & SAHR

3. Invention of cellular phone/ @?}Kﬂ B & MTHR
4. All of the above/3dad Tt

Correct Answer :-
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« All of the above/3udad I+

12) DIRECTIONS: Read the passage and answer the questions that follow./
frd=r: fFrmfafea Tt eaFyde yeae 39 A fed 1 sgiawadt uzat & ugl fawe &1
T DN |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TG & R | 8, T UM A 7 Had IR & A1) B, 9fep a9 9 TR &1 A TuOR
P & D! B W gary Fa e g1 Ui 9 # e & @ uR) B aRee ¥ 8k 59
UPR 9 3FTeN Gl & fae sifirera ois wrd A1 gfeor smfyeT &Y &1 Ivaar & anT 9rm
& B3 TN sl B TP fARy et § 7T ared A 3R T HIRMAES gIRT A AT 711G 9P
UgaT A1 B AN SIS W AU oG B TR@Ted gRI Ugdard 3, 3R $o N HR@es
o BT AR W3 ugaard &1 Ty § fp Gar & g7 A1l & Wy 9gaq I wwwang F)
gfe freft 3 Big Ad=@Te® WS, O JSRAIED §IRT AT & SRIF AR Wl 967 a1 I fapa
$R AT 3T T, forfaa ez @) ff Tarar U1 3R 8T, A WX YeRars® ) Tuadl W
FIB! ¢ a@ R v 3, faRiy = A &t gival & ama o1 91w 8 6 fafis awarei &
SfYPTIfUP Bed STH & 1Y, AW T G YOR B ATIIPHdT el o et N1 57 {4 &1
UEdT ST AT (AR) & TP & &9 § e, 39d a1¢ TewiA & iR Sidd: Iegar
BIF & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR UT, W qB $8 Huai
ff of)

Which was a great invention according to this passage?/ %4 Glaﬂ‘da? SR
PIF-9T ATAISHR TH TG SMISHIR A1?

1. Telephone/ THUIBIA

2. Computers/ YR
3. Newspaper/ JHER-UA
4. Radio/ &

Correct Answer :-
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« Telephone/ ¢WIBIA

Topic:- Grad_Child Care and Education

1) Permanent change in behavior is related to:/ 38R ¥ ®IT$ Uf¥aad feaa
. oﬁ %-

1. Learning/ ITa-1
2. Maturation/ PIRCESR]|

3. Creativity/ goiTc®
4. Emotional/ TacH®

Correct Answer :-

« Learning/ ST

2) AIDS Cause through:/ EE{'\‘TWT-IT%:
1. Through Virus/ ﬁ'GlTE{L@{

2. Cough & Cold/ If J&ma &

3. Through Mosquito/ TR I
4. Bacteria/ Sfaefar

Correct Answer :-

« Through Virus/ ﬁ'GlTlI[@[

3) Need of Protection is:/ TR&UI I ATaRghdl ______ gldl &
1. For Development/ ﬁm%ﬁﬂz

2. For Adjustment/ JH™ISH & for@

3. For Future/ Hfasg & fow

4. All of the above/ IWRIE qHi

Correct Answer :-

« All of the above/ IWRIad ¥t

4) Characteristics of development is:/ fa®Tg & faRivard = gl 8:
1. Progressive Series of changes/ faeTg ufvadi ot T umfasiia el
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2. Orderly/ shHd&
3. Planned Process/ AoHTegG
4. All of the above/ IR gt

Correct Answer :-

o All of the above/ IWRIad gt

5) Important method for identification of problem in children is:/ FARTH®
ITEAD! DI UG B WG Uforal &1 3:

1. Observation Method/ fRt&rr fafy

2. Interview Method/ TT&T@hR fafy

3. Psychological test/ TS Tt
4. All of the above/ SURIe GH

Correct Answer :-

« All of the above/ IWRIad IH!

6) AIMS of Pre-School Education are:/ qﬁWﬂWﬁT&lTa?G%WWﬁ?ﬂ%:
1. Opportunities for Development/ faer & fore SfaeR

2. Development of Aesthetic sense/ Ty S1¢ SR BT

3. Development of Intellectual curiosity/ Sifad ORI STId ST

4. All of the above/ SURIad gt

Correct Answer :-

« All of the above/ IWRIad Tt

7) Sensory motor stage and concrete operational stage are stages of

A U AT YT RE HihATH S SR fh a1 & PR 8
1. Cognitive development/ S3MTH® fdb™

2. Language Development/ T faer

3. Emotional/ Development/ aiTA® fa&Td

4. Physical Development/ YRIR® fdbrg

Correct Answer :-

« Cognitive development/ IJMTH® fabr
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8) Integrated child development services was started at:/ TdIgpd aTd fas
J9E URYH P9 B T8 Ao:

1. Year 1975/ 94 1975
2. Year 1979/ a¥ 1979
3. Year 1980/ @¥ 1980

4. Year 1982/ 94 1982

Correct Answer :-

« Year 1975/ 94 1975

9) 1 December was celebrated as:/ 1 fqqw R &) Fa1 HATAT W17 3:
1. World Environment day/ fa%a gaferur feaw

2. National AIDS day/ favd ugy fead

3. World Women day / fa=a #fgar fead

4. National child day/ fa=d ST fdad

Correct Answer :-

« National AIDS day/ WQSE%W

10) Various aspects of development of Neonate is:/"auTd R} & fawr & fafi=
UEE 1 EId 8-

1. Motor activity/ IERIRINGI

2. Consciousness/ ddl

3. Sensivity/ Jda=iTedT

4. All of the above/ SURIad TH!

Correct Answer :-

« All of the above/ SURIad Tt

11) Types of changes in development are:/ fa®rd # uf¥ad< & W=y 1 &
1. Change in Size/ 3T&R H uRkad=
2. Change in Proportion/ 3drd # gfRad=

3. Appearance of New Features/ TaIH T&UN &I UGN H=AT
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4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

12) Characteristics of mentally retarded children is:/ Wamﬁﬁﬁaﬁw
W%:

1. Excess creativity/ JoI=iTeidl &1 Hferbdr
2. Lack of concentration/ STH& <50l § HH]
3.1Q like Normal child/ Sfg-afel YT STl & THM

4. Normal of Memory/ Wwﬁﬁw

Correct Answer :-

« Lack of concentration/ €50l § HHI

13) What are the chief characteristics of early childhood:/ qﬁmmﬁwaﬁm

1. Physical & Mental Stability/ RIS Td ARG fRURdT
2. Forceful Curiosity/ TSR 1 Uaerdl
3. Relationship with Real World/ aRdide® S°Td § Ia¢

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad Tt

14) What factor influencing social development:/ T faeT @1 gyTfaa s
91 dd B A1 8

1. Social Anxiety/ AT =T
2. Social Standard/ ITHING &R

3. Culture/ J&hfd
4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWRIad gt
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15) is the transmission of traits from parents to offspring/

HTaT FaT @ W1 B UTe g 9T 0T 8-
1. Heredity/ d=ITshH
2. Environment/ dTdrdxul

3. Heredity & Environment/ dRII¢hH, QTATGRU]
4. None of these/ gﬂﬁ@ﬁ"&cﬂ"{ﬁ

Correct Answer :-

« Heredity/ =TI H

16) What is DWCRA / DWCRA &1 §-

1. Programme for Special children/ fafme sTae®! & forw wrdea
2. Programme for Health/ E‘I@H%ﬂw

3. Government organization/ I 1T I3

4. Programme of WHO/ WHO & HRIBH

Correct Answer :-

« Programme for Special children/ WW%WW

17) Development of ability and decision making are purpose of /

grgarsil o1 faera wd fofay & werae @1 35%a @
1. Learning/ TRaAT

2. Maturation/ GRGaIdI

3. Instruction/ A

4, Creativity/ JoHTHO T

Correct Answer :-

« Instruction/ ﬁ%QFT

18) Analytical meaning of child psychology is:/ STd HAIfa3T &1 faxavones ardf
1 3 3:

1. Positive Science/ Wﬁ?ﬂ?

2. Study of child from conception to Adolescence/ YR  fHIRTaRIT 9% aTas &1
&g

3. Studies the mental development of the child/ S b AHRID [AHTH BT ST HAT
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4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

eY

7

GET IT ON
Google Play

19) Among these which is not the Theory of Language development:/ sqﬁﬁ

BI4 I1 Ry |11 faer &1 Rrgr=a 781 2-
1. Maturational Theory/ URuaadr Rigrd
2. Learning Theory/ e Rigr

3. Cognitive/ Theory/ IS Rigr

4. Psychoanalytical Theory/ HAIfaRaNUTHS Rigrd

Correct Answer :-

« Psychoanalytical Theory/ HIfaRaNUTHS Rigrd

20) Important factor in social development are:/ mﬁmmwmaﬁw

FaT 8:

1. Heredity/ d=IIIhH
2. Gender/ feff

3. Environment/ dTdrarol

4. Heredity & Environment/ d=IIIshH 3R ITATaRU]

Correct Answer :-

e Environment/ drdrdaul

21) Objective of ICPS is/ ICPS & W&U:

1. Establishment of Special School/ fafRrme 2met &1 784
2. Awareness/ SR dl

3. Social Stability/ JTHING (R

4. All of the above/ IRlad g4t

Correct Answer :-

o All of the above/ IWRIad gt

22)
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What are the factor influencing learning process: /TP & HRGAT Bt ufepar i
TUTTad A a1 dd B 7 8

1. Motivation/ U
2. Reward/ QRIGNR
3. Praise/ Uil

4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ SWRIad FH

23) Working areas of ICDS is:/ 3iTs Ul Sl T & &1 &7 71 8-
1. Health Checkup/ W= Sid

2. Health Education/ Wy e

3. Safe drinking water/ JRf&d Ui &1 Uil

4. All of the above/ ItRlad g4t

Correct Answer :-

« All of the above/ SURIdd ¥

24) Identification of creative children is:/ Jo-RItd STc®| B U= R &
1. On Basis of Common characteristics/ ST &N UR eTRd

2. On Basis of Teacher Opinion/ Rrerl ot g IR smema

3. On Basis of Testing/ TI&ON TR 3enid

4. All of the above/ SWRIdd g

Correct Answer :-

« All of the above/ IURlad g

25) E.L.I.S.A. is / ofea &
1. T.B. Test/ <1.&%. Giefor

2. AIDS Test/ TSH URI&UI
3. Cancer Test/ IR GI&TT
4. Fever Test/ @R URI&UI

Correct Answer :-
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« AIDS Test/ TSH UI&TT

26) Scheme for child protection is:/ STd TX&UT ¥ FISHT FT &
1. Integrated Child Protection Scheme/ WWW&W@W

2. Integrated child development services/ TdIdd A b JaTd
3. National child Welfare/ ITT0 &I &l

4. Welfare extension project/ FH T faRIR aRESHT

Correct Answer :-
« Integrated Child Protection Scheme/ WWW&W&IW

27) In which period internal organs development take place?/ 3iidiR® 3t &1
faera fra sraw & g @2

1. Period of Ovum/ f&& 3q=T

2. Period of Embryo/ fUTS 3fa=i

3. Period of Fetus/ Tﬁ-@ﬁ]ﬂﬁ S{ART
4. All of the above/ IURIad G

Correct Answer :-

« All of the above/ IURlad I

28) Factor influencing child development is:/ ITd fapTI ) gHTfad HRA a1 dd
w7 8-

1. Nutrition/ OISl
2. Maturation & Learning/ GRudadr Td 3{ferTd
3. Family Environment/ UTRATRe® aTdraxul

4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWRIad gt

29) Characteristics of cognitive process is:/ YT Ufsparai @1 faivand = 8:
1. Perception/ Taefte o

2. Abstraction/ 3Tfdaur
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3. Transfer/ 30l

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IRiad g+t

30) Stages of cognitive development is given by/ SIHTE® fa®T Ft AR
ﬁmﬂ?mzﬂné A

1. Piaget/ s
2. Freud/ IS
3. Kohlberg/ CANGU
4. Erickson/ SR&9

Correct Answer :-

« Piaget/ oS

31) Birth of Neonate is divided into / 131 vaa ot ufeear &t
srqeyreft # fayrfora faear mar-

1. 3 Stages/ 3 AT
2. 8 Stages/ 8 NIGR)| 1
3. 2 Stages/ 2 SRy
4. 4 Stages/ 4 aRITY

Correct Answer :-

. 3 Stages/ 3 3{qRY

32) Name of Special Children School in Lucknow is:/ @3, fRud fawain a=i 7g
faermera &1 7m0 w1 B:

1. Chetna Center/ da-l &

2. Samarpan Kendra/ g g
3. Bhavishy Kendra/ Hiow %
4, Muskan Center/ WFTW

Correct Answer :-

e Chetna Center/ ERGIEEA
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33) Identification of mentally retarded children was done by / HI9H<
CIGCAK ARSI B gdteror g1 fpar Sirar @

1. Intelligence test/ §fg URI&00

2. Benedict test/ sHfSae G&m

3. Psychometric test / JHISIHfA TRTe&or
4. Scholastic test/ Judis Teleon

Correct Answer :-

« Intelligence test/ Tg'@tlﬁ&l'UT

34) Development of nervous system in which stage of pre nature

development is:/ TR Ry @1 5w srawur & =g avea &1 fAmtor grar 3:
1. Period of Ovum/ f&%a s/a=ir

2. Period of Embryo/ fUUS 3fa=i

3. Period of fetus/ nﬁwfﬁr&gaﬁ START

4. All of the above/ SWRIead TH!

Correct Answer :-
« Period of Embryo/ fUUS 3{a=il

35) National AIDS control Programme is important factor of:/ ?T@'!IQ?N
iz PRI o1 g -

1. Blood Protection/ Jad T&0l

2. Help from WHO/ fd=a Wareg 76+ ¥ Hag

3. Help from Agencies/ Toil<dl ¥ Aaq
4. All of the above/ IWRIFd g

Correct Answer :-

e All of the above/ IWRIad gt

36) Family faulty discipline and over protection are cause of which problem:/

AR P Srqul SR Ud Sife TRevr ford o &1 $RT &:
1. Backward children/ IPENEINCD

2. Problem child/ IHHT dcidh
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3. Deprived children/ 3fddfad s
4. Maladjusted Children/ SN STddh

Correct Answer :-

e Problem child/ IHHT dTcidh

37) Aspects of development are:/ fa®TH & Ue 71 814 &:
1. Biological Aspect/ Sifa® gef

2. Social Aspect/ BICISERL

3. Biological & Social Aspect/ SfaeT aur g get

4. All of the above/ SWRIead TH!

Correct Answer :-

. Biological & Social Aspect/ Sf3T auT RIS Tet

38) Process of Social Development is:/ et faeT ot ufsear & §:
1. Negative/ FSeTH®
2. Positive/ TATHD

3. Negative and Positive/ YIS Td AT S

4. None of these/ Eﬁ@f&ﬂ'&‘ﬁ

Correct Answer :-

« Negative and Positive/ F¥YTH® Td STATHS

39) Sentiment, meditation are necessary factor of / Tde, fia= feg
faera & smava® da 8:

1. Emotional Development/ TAHD fapTg

2. Cognitive Development/ gSIHIHSD faT

3. Language Development/ HTST fdw ™
4. Aesthetic Development/ Ji<d aiY fderg

Correct Answer :-

« Cognitive Development/ goHTd® fdh Ty

40) Principles of ICDS is:/ 3MS ¥ ¥ © &1 g & 2:
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1. Child is the future human capital/ dicih lﬁwﬁﬂﬁ?ﬂﬁﬁ%
2. Pre-School Education/ Jd g fRigron

3. Preventive Help/ ﬁHW@HTQ

4. All of the above/ IWRIE G4

Correct Answer :-

« All of the above/ IWRIa GH

41) Full Form of WHO is:/ WHO &T TRT -ITH FIT § -
1. World health organization/ fd%a Wreg e

2. Wide health organization/ fa¥&Jd T &+

3. Whole health organization/ J¥Ul TR T3

4. All of the above/ IRlad gt

Correct Answer :-

« World health organization/ foza ooy TeH

42) What is the educational Quotient (EQ) of Backward children?/ fUss aif &
Tt Bt Afere afr frai g

1. 155 and more/155 T4 3if¥@®
2. 85-155/ 85-155
3. 70-85/ 70-85

4. Less than 70/ 70 ¥ &H

Correct Answer :-

« 70-85/ 70-85

43) Development of bones is related to development:/ SR &1
e fra faera A Tefia @:

1. Physical/ TRIR®

2. Motor/ IERIR:ES

3. Play/ @d

4. All the above/ JtRlad Gt

Correct Answer :-
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« Physical/ IRIRD

44) Foundation of national AIDS control organization is:/ IS¢ TgH fizor
TS BT RITIAT HF Pt 15 A -

1. Year 1991/ 94 1991
2. Year 1993/ 9% 1993
3. Year 1992/ a¥ 1992

4. Year 1990/ @ 1990

Correct Answer :-

« Year 1991/ 9% 1991

45) is the molecule of Heredity/ 3(aifRI&dr & 3] & -
1. D.N.A./SI.TAT.

2. R.N.A./3RTAT.
3. Both of the above/ RLRES AR
4. All the above/IWRiad gt

Correct Answer :-

« Both of the above/ IURIad i
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